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Question Number : 1 Question Id : 630680292412 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
332023 °¢38 (0B ) 0BT 0D DO — D255 B0’ 23e5(e) DO 23eHTIADNDE°0N?

L. ASEAN — Q05:y°0

II. BRICS — 2

Options :

1. ¥ 1575

2. % 1 (b

3. % 10805 11 Bocky

4. % 1520 S 11 50 D& 5280
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Question Number : 1 Question Id : 630680292412 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘international organisation — member country’ is/are correctly matched, as of May 2023?

I. ASEAN - Singapore
II. BRICS — Brunei

Options :

1.¥ Only 1

2. % Only I

3. % BothIandII
4. % Neither I nor II

Question Number : 2 Question Id : 630680292413 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The recipient of the ICC Women's Player of the Month for May 2023 belongs to which of the following countries?
Options :

1. #* Ireland

2. % The Netherlands

3. % Thailand

4. % Switzerland

Question Number : 2 Question Id : 630680292413 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

33202380 ICC s57$e> NOND €55 & D0 (Horeh 80 O BAFAE TOAIIS?
Options :

1. % 0°0&

2. % JN0°0&)

3. ¢ rOersosH

4. % 50T0&

Question Number : 3 Question Id : 630680292414 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Lo DSTEE DO (SCO) D) 20238 H020H0D 0B ¢3S HBXE DE?

1. 0o O 578 SCO @358, DA BHAT esD BWerduE0 D HR0T S
II. Q0°S SCOS 8 Hess TFomr THOH.

Options :

1. % I 305

2. ¢ 11 S (dad

3. % 10805 11 Bocky

4. % 1520 S 11 50 D& 5280

Question Number : 3 Question Id : 630680292414 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct regarding the Shanghai Cooperation Organisation (SCO) summit 20237
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1. The presidency of the SCO for the forthcoming period is handed over to the Republic of Belarus
II. Iran joined the SCO as a full Member State.

Options :

1. % Only I

2.¢ Only II

3. # BothIandII
4. * Niether I nor II

Question Number : 4 Question Id : 630680292415 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
15020 BFO"S "e8 T3¥ 035" H0220E0DS A 2SHTON0L:

0% Jodd Pobodd Go
| ung ad & DS 1 63"5
] ung a9 rdbd 2 ﬁaa'i..*.;y
1| e85 o5 o0 esoghr & IS | 3 ainde

Options :

1. % 1-3, 11-2, T1I-1
2. % 1.2, 1I-1, 111-3
3. % I-1,11-3, 1I1-2
4. % [-2, 11-3, I1I-1

Question Number : 4 Question Id : 630680292415 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following with respect to the "state Honour" with the "Concerned Country":

State honour Concerned Country
I | Order of the Nile 1| Russia
IT | Order Zayed 2 | Egypt
Order of St. Andrew
3 T

11 the Apostle The UAE
Options :
1. % 1.3, 11-2, 1II-1

2. % 1-2,1I-1, III-3
3. % I-1, I1-3, I1I-2
4.« 1-2,11-3, 11I-1

Question Number : 5 Question Id : 630680292416 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S’ 2578 202365’ ROAAHS ASVEITSES 3D Tse) 2 (IIT) §& DA0H §H0 Y DE & DazahSosorr
QB EFODS H0CBH0S HBED D? .

L 135 1T 5287366 [3rE08)00), B0 B08.
1L §& &N 9T 1 36 TrBE, (B 0N, S 580 BN RS S5 503 DD BIOHS
523570 DABITR) EOR &0N0d.

IIL 11T 5767738 T3y RE erd"Bead 00 T8 VAR FB0HOS R0GH L3S0 S8 NG0B
Options :
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1. % 1308050 1T 5375

2. % 10005 I 857 ehadd
3. % 1 OO 11T 5375330
4. % T 11000 111

Question Number : 5 Question Id : 630680292416 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct in the context of the test flight for cloud seeding successfully conducted by the Indian
Institute of Technology (IIT) in June 2023?

1. The project was initiated at and conducted by IIT Kanpur.
II. Cloud seeding involves the utilization of various chemical agents such as silver iodide, dry ice, common salt, and other elements.
III. An IndiGo aircraft was flown from the Flight Laboratory of IIT Kanpur with cloud seeding attachments.

Options :

1. % Only I and II
2. % Only I and III
3. % Only II and I1I
4. % [, I and III

Question Number : 6 Question Id : 630680292417 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In May 2023, the Indian Institute of Technology Madras partnered with which of the following countries to set up Centre of Water
Technology?

Options :

1. # Germany

2. % Japan

3. ¥ South Korea
4. + Israel

Question Number : 6 Question Id : 630680292417 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢35 3 202365, ROAOHS VSV &5 BIS*) 028 IR, VOIS €55 D Bose) @28 DT°)ew
BONTEAE 23t §3°5). B0C0E HEVS) TF0 E?

Options :

1. % 2389

2. % 23R

3. % 58 00 805

4. ¥ DO

Question Number : 7 Question Id : 630680292418 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ISRO 3308}, XPoSat HASE 000D 808 TS IA(D) DB ST IE?

L 9O S HBVHS’ (HTHS0S TS DAY X-8 B3SO TINE) D 0T 9350050 TADTTE
APSESTIIO SIS DOEBNCIES (DB (CNSEA(FPerEES) WAS.

IL &8 S’ e0T"E 550365 N 255 EE 565" B0 0EIDE DS GO SreNZOFHE.

Options :

1. % T 5(ehadd

2. % JI S°(¢hod
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3.9 T OO 11 BOCF
4, % 1520 B 11 5°Q 0O 5260

Question Number : 7 Question Id : 630680292418 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding the XPoSat mission of ISRO?

L. It is India’s first dedicated polarimetry mission to study various dynamics of bright astronomical X-ray sources in extreme
conditions.
II. The spacecraft will carry two scientific payloads in a low earth orbit.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 8 Question Id : 630680292419 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2378 202365, AL SO0 TE BT 50 EDAS FB|FWE 3677 DORXE DOON 230D FeYeas 35 69 Do’
6,000 SH0E DTSN DB 200 DO GTENZOZ BE 9 VS8 80A a7e3¢S & E0 BEEBE BISS e
(BOQORSE @XTETS 2:)0502 DOSE0 THOE?

Options :

1. % S

2. ¥ DETR

3.8 dQ DGOy

4. % e

Question Number : 8 Question Id : 630680292419 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In June 2023, which of the following companies signed a memorandum of understanding with Directorate General of Training to
enable 6,000 students and 200 educators at Industrial Training Institutes and National Skills Training Institutions with Al and cloud
skills?

Options :

1. # Google
2. % Microsoft
3. # Nvidia

4. # Meta

Question Number : 9 Question Id : 630680292420 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢3S & )8 S| 3e) NG F0TRES D EITTAOD AI-BNEE Dhed e, DBTY TN BN
T T EEN 0N €3°025 & (BPBE0DODS HOQ E?

Options :

1. ¥ A8r3HoNd

2. % Q&P

3. ¢ S0

4. % DD

Question Number : 9 Question Id : 630680292420 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following companies has launched Topaz, an Al-first set of services, solutions, and platforms using generative artificial
intelligence technologies?

Options :

1. ¥ Accenture
2. # Wipro

3. % Infosys
4. % IBM

Question Number : 10 Question Id : 630680292421 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

GarESOEN OO BT DOBE HBE IFeFS SFODO 20D WIS HGHE0 S’ rE0D0BDE0A.
Options :

1. % 2012

2.9 2014

3. % 2017

4. % 2016

Question Number : 10 Question Id : 630680292421 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Scheme of Pandit Madan Mohan Malviya National Mission on Teachers and Teaching was launched in
Options :

1. % 2012

2.4 2014

3. % 2017

4. % 2016

Question Number : 11 Question Id : 630680292422 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

S0P E® BN 3 ©DNYD O[3 § TR T ST €960 ARG DHTOE 000D §0& ¢3S A/
QBIE/?

1. 0are 38 S0 DPE0 OTE 5 BT, TBIDNOMT KD AT TR, FONEFIE DO Kes 08
SIS 8D HBVHIS' 23 ST FH0 o0 [PTFEBS0 WD), DHEO.

IL €523 $ DHOE0 0 1780 AT AL DB TE3BEISTIOS BOAE DA 0B (ErD80N 2B
88090, DT N0 EDR0TIB0, B8A D053 HBTIO BRI BT B0 §do 0|50
(BrD3°2850 TN, DHE0.

Options :

1. % 3005

2. ¢ 11 S (dad

3. % 10805 11 Bocky

4. % 1520 S 11 50 OO 5280

Question Number : 11 Question Id : 630680292422 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statements is/are correct regarding the schemes implemented by the Ministry of Women and Child
Development?
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I. The Mahila Shakti Kendra Scheme is a Centrally Sponsored Scheme for women who are victims of difficult circumstances in need
of institutional support for rehabilitation so that they could lead their life with dignity.

II. The Ujjawala Scheme is a Centrally Sponsored Scheme for Prevention of trafficking and for Rescue, Rehabilitation, Reintegration
and Repatriation of victims of trafficking for commercial sexual exploitation.

Options :

1. % Only I

2.% Only I

3. % BothIandII
4. # Neither I nor II

Question Number : 12 Question Id : 630680292423 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SONTS aTES (DTS 00 83 e85 TBresd (AB-PMIAY) 23SSHTFOS o) 0351306 (S0 0520G0E?
Options :

1. # 2012

2. % 2014

3. % 2016

4.4 2018

Question Number : 12 Question Id : 630680292423 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year was the Ayushman Bharat Pradhan Mantri Jan Arogya Yojana (AB-PMJAY) launched in India?
Options :

1. % 2012

2. % 2014

3. % 2016

4.+ 2018

Question Number : 13 Question Id : 630680292424 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2PBSTIE 22305 8§ PrEPed OTITEN (2019-20) (DSS0 80 55’ DE/D DBIE/D?

L 3% 3080 GDPES’ (52565 ¢ e85 095000 2014-1565° 1.13 3¢50 0 2019-2063° 1.35 7&rd8 DOAOE.
IL S080 es85 53006’ (525065 ¢ @& 55000 2014-1565 41.4 3¢50 0 2019-2065° 29 &8 SHOA.

Options :

1. ¥ 1 35S

2. % 11 S5

3. % 10805 11 Bocky

4. % 150 B 1 5°Q O 5260

Question Number : 13 Question Id : 630680292424 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct as per the National Health Accounts Estimates for India (2019-20)?

I. Share of Government Health Expenditure in country’s total GDP increased from 1.13 percent in 2014-15 to 1.35 percent in 2019-20.
II. Share of Government Health Expenditure in Total Health Expenditure decreased from 41.4 percent in 2014-15 to 29 percent in
2019-20.

Options :
1. % Only I
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2. % Only II
3. % BothIandII
4. # Neither I nor II

Question Number : 14 Question Id : 630680292425 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3S’ & 235/ WrSTe8E B\ HHE0 — ST Y @86’ E0 HODOBOD DO 23HTONDFON?

L (DG $0(8 MBE DS Trasd - 18 0B 50 HOSes yoren

IL (5 s00(83 2859 %58 D3> Tre3ed - 18 00 70 HOsSeh Yoen
Options :

1. % T 3(ehadd

2. % 1 Sd

3. % 1 0805w I Bockr

4. ¥ 15 S I 5°Q O 520

Question Number : 14 Question Id : 630680292425 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Social security scheme — Age group eligibility’ is/are correctly matched?

1. Pradhan Mantri Suraksha Bima Yojana — 18 to 50 years
II. Pradhan Mantri Jeevan Jyoti Bima Yojana — 18 to 70 years

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 15 Question Id : 630680292426 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the NITI Aayog report Preserving Progress on Nutrition in India: Poshan Abhiyaan In Pandemic Times', which state was
ranked first among larger states in terms of the overall implementation of the Poshan Abhiyaan scheme?

Options :

1. ¥ Maharashtra
2. % Kerala

3. ¥ Karnataka
4. % Qdisha

Question Number : 15 Question Id : 630680292426 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

NITI e33R QBSOS 233065 FASIB0D HFHEB H0SE.0t9¢0: FAET ODAITS VS OB T
1SS0, D 0DATS DEHE0 TEY Do €900 DG T aTeS 53 TS0 &) TR0 DE?
Options :

1. ¢ ST R

2. % 338

3. % $0red

4. % 2,57

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 8/73



8/9/23, 1:43 PM https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Question Number : 16 Question Id : 630680292427 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

209 (8800 202365 TBENFOBS D58 DO 965§ )0 DO eSsOEOMT FOAS ($00° 808 238D
08 )0dk.

L. @0

1. 585D &) BoleS’S &0
III. O°23Y°Q

IV. 3378

Options :

1. #* I-I-11I-1V
2. % [I-1-IV-II
3. ® [I-II-IV
4, % [-IT-TV-1I

Question Number : 16 Question Id : 630680292427 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following teams in the increasing order of lowest to highest number of Gold medals won in the National Games 2023.

I. Assam

IL. Services Sports Control Board
II1. Rajasthan

IV. Karnataka

Options :

L. * M-IV
2. % MI-I-1V-11
3. % [-II-11-1V
4. % I-I-IV-II

Question Number : 17 Question Id : 630680292428 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢35 R0.0). 7R B D000 EOR &5, 8¢ E?
Options :

1. % Q200

2. % 3230h

3. % Hoe3oh

4. ¢ QHoh

Question Number : 17 Question Id : 630680292428 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

C.A. Bhavani Devi is associated with which of the following sports?
Options :

1. # Swimming

2. % Wrestling

3. ¥ Shooting

4. % Fencing

Question Number : 18 Question Id : 630680292429 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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808 ¢3S °sT°0& EDEL H0DOE0D) DE/D DBIE/D?

1. &°STR08 89 G eHT38) @550 (P )ErS 658 OES.
IL C3°ST°0& §9 &30S’ BOCSS 9655085 (DS eSS ¢5°8) oeS.
111 85°$0°0& &9 (D006 s07°¢8ed €9¢550¢5 (T HETerS E°65) OES.

Options :

1. % 1308050 I 355

2.9 150805 I 355
3. % [ S°(ehodd

4. % 11 08050 11T S5 add

Question Number : 18 Question Id : 630680292429 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding the Durand Cup?

I. Durand Cup is India's oldest football tournament.
II. Durand Cup is Asia's second oldest football tournament.
II1. Durand Cup is World's third oldest football tournament.

Options :

1. ¥ Only I and II
2. % Only I and III
3. % Only

4. % Only IT and TIT

Question Number : 19 Question Id : 630680292430 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
eSDAS® éaaé ZPODONSAD 20238 H0D0EOD 80 T3S OB 850 DE?

L 275 5 HE @OST 2B Tr0D0NSND T3S ReNTHHO0A.

IL 20PSES’ 23608 esDASP® éaé TODONSAD DI’ 2SS 42-328° VTS LBODOE.
Options :

1. % T 5(ehadd

2. % 11 S°(¢Hod

3. % 1 0805w I Bockr

4. % 1520 S 11 50 D& 5280

Question Number : 19 Question Id : 630680292430 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct regarding the Asian Kabaddi Championship 2023?

I. India won its tenth Asian Kabaddi Championship title.
II. India defeated Iran 42-32 in the final of the Asian Kabaddi Championship in Busan.

Options :

1. % Only I

2.4 Only 11

3. # BothIandII
4. % Neither I nor II

Question Number : 20 Question Id : 630680292431 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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278 202365, 808 78S’ 22 ETrS DBBAS B85 OGO 9IS D) BT IeSE?
Options :

IREINWRISE )]

2. ¥ 885 @S

3. % 585080 2oh A

4. % 3 oo

Question Number : 20 Question Id : 630680292431 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In July 2023, who of the following was elected as president of the Basketball Federation of India?
Options :

1. #* Munish Sharma

2. % Aadhav Arjuna

3. ¥ Kulvinder Singh Gill

4. # K Govindaraj

Question Number : 21 Question Id : 630680292432 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

©OITA 28 VLD 52858700, A505°230 DO DAY BT 08050 S5581¢8 DT Eoied SO
DEBOSEAE B0’ SEO JB DN BE® IDONOEN OIBIDT B (FITSE RO LB 0tIB0
2808,

Options :

1. % (2053e30h
2. ¢ da00

3. % 58800

4. % 58)oh

Question Number : 21 Question Id : 630680292432 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is an unlawful activity where fake websites or emails that look original or authentic are presented to the user to fraudulently
collect sensitive and personal details.

Options :

1. # Troubleshooting
2. % Phishing
3. ¥ Hacking
4. % Surfing

Question Number : 22 Question Id : 630680292433 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
806 63" ' WIES - BRATND) G025 (123 Sesede Bdifaesen) TINEY & 23¢5(@) DO 235IBDT°0N?

I 088 - 35arSes

1L 5° €090 - ronedd
Options :

1. ¥ 1 355

2. % 11 S5

3. % 10805 11 Bocky

4. % 1520 B 11 5°Q O 5260
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Question Number : 22 Question Id : 630680292433 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Mineral — Deficiency disease’ is/are correctly matched?

I. Iron — Anaemia
II. Calcium — Goiter

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Niether I nor II

Question Number : 23 Question Id : 630680292434 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

09T T PN 2BaADH T FEH 83520008,
Options :

1. % 3)BAS By el

2. % DD A 57

3. % 0o OGS

4. ¥ S5 ren 0B €9

Question Number : 23 Question Id : 630680292434 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The 'Amrita Devi Bishnoi National Award' is given for
Options :

1. # information technology

2. # disaster management

3. * women empowerment

4. % wildlife conservation

Question Number : 24 Question Id : 630680292435 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
80& ¢3¢ Beres ROBTO TS0 TE G069 e0E?

L. €802 ST°eN
IL. 09800 DBANEEO
11 RENaINV oI,

Options :

1. % 108050 I S5(ed o

2.9 1308050 1T S5
3. % 110050 I S5°(¢H 30
4. % 11 S5

Question Number : 24 Question Id : 630680292435 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The combustion of fossil fuels causes which of the following?
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1. Acid Rain
II. Landslide
III. Smog

Options :

1. % OnlyIand II
2. % Only I and III
3. % Only IT and TIT
4. % Only II

Question Number : 25 Question Id : 630680292436 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1ID0TS 2 BRSO erSS$TIo aver .
Options :

1. # 2430

2. % 48 3°¢%0

3. ¥ 8.1 350

4. % 143 3¢50

Question Number : 25 Question Id : 630680292436 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India's share in the global species diversity is about
Options :

1. % 2.4 per cent

2. % 4.8 per cent

3. % 8.1 per cent

4. % 14.3 per cent

Question Number : 26 Question Id : 630680292437 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
80A &) “RNELD DTETO - GG’ 2365 DB 2365 DSIDR0E?

L @598 823 DnEyen - 0O
IL DSged a3 B e - DE o5
Options :

1. % 308

2. % 1 S5

3.9 10805 11 Dok

4. % 15 S I 5°Q O 5260

Question Number : 26 Question Id : 630680292437 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Plant group - example’ is correctly matched?

I. Angiosperms — Eucalyptus
II. Gymnosperms — Sequoia

Options :

1. % Only I

2. % Only IT
3.4 Both I and I
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4. % Neither I nor II

Question Number : 27 Question Id : 630680292438 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

JDEFEHED 1808 3D0(Gre> T7350S° &) SSHBE TOOSD?
Options :

1. ® @@6@?065(3

2. % e3P VD)

3. ¢ ARV

4. % BTG

Question Number : 27 Question Id : 630680292438 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mushrooms belong to which of the following class of the fungi kingdom?
Options :

1. # Phycomycetes

2. # Ascomycetes

3. % Basidiomycetes

4. # Deuteromycetes

Question Number : 28 Question Id : 630680292439 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct regarding anorexia nervosa?

1. Those with anorexia nervosa indulge in bingeing (overeating) and inducing purging by vomiting or using laxatives.
II. In Adolescent girls, anorexia can delay the onset of menstruation, permanently minimise stature and result in osteoporosis.

Options :

1. % Only I

2. Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 28 Question Id : 630680292439 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
806 ¢3S’ @S BEYOST I S50 D0D0E0D JBSE/D DE/D?

L &S BEIAST JE S €55) a3°C0 T 3380 S0BAN OB TANCIO B Q0RO &HTJrAOTIS0
TP S0° |DFTHS TONGHOS’ SNIAN .

IL 85% (20006 &) @56, @9 S BE YOS 220 RTS0 (BFB02T) SO0 TR0, 33 S50 FE3ST)
EOANOE BTN SN DXNE FSOE BB N0E.

Options :

IR NS

2. % 11 S5

3. % 10805 11 Bocky

4. % 150 B 11 5°Q O 5260

Question Number : 29 Question Id : 630680292440 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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808 e3¢5 o) FASE D000 DB a8 §e30(e0) DE/D?

1. 208 ([T 58 ) 37 3BE 4 Kealed $8 Dchoded TXHoH
11 208 [P0 (¢3S 6Kcale> ¥8Q Dcsed TR0,
1 208 (T30 §69) 5 9 Kealed 38 e TRHoA.

Options :

1. % 1308050 I 3375
2. ¢ T 0005 I 357 add
3. % 1 OO0 1T S3°(5 30

4. % 1 11 00050

[11

Question Number : 29 Question Id : 630680292440 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which of the following statements are correct regarding the macronutrients?

L. One gram of carbohydrate releases 4 Kcal of energy

II. One gram of protein releases 6 Kcal of energy.
II1. One gram of fat releases 9 Kcal of energy.

Options :
1. # Only I and II
2. % Only I and TII

3. % Only II and 111

4. % 1 11 and III

Question Number : 30 Question Id : 630680292441 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

"ErPO0" OGN "H0DOEH HFE0N J (0" BHTANOR:

Jodbo grgod Eddo
I | raroch Fosdos™d 5236 S'ab 008 8% HArS 8o
I ‘:J"U"_&E]"ﬁs:) Borddy TTTeD G fat .‘\‘:;u:; DTS Edo
| s & 2R ol erer YUy
HOH ol :‘6;”1 Rard Edo
Options :
1. ¥ 13, 112, T1I-1

2. % 1.2, 1I-1, II-3
3. % I-1, I1-3, I11-2
4. % 1-2,11-3, 1II-1

Question Number : 30 Question Id : 630680292441 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following with respect to the "area" with the "concerned earthquake zone":
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Area Earthquake Zones

I K?Shmu' v allej.r in the 1 | High Damage Risk Zone

Himalayan region = =
I Eastern parts of 5 | Very High Damage Risk

Haryana ~ | Zone

' Moderate to Very Low
i R > Damage Risk Zone
Options :

1. ¥ 1-3, [1-2, I1I-1
2. % 1.2, 1I-1, III-3
3. % -1, 11-3, III-2
4. % 1-2,11-3, 11I-1

Question Number : 31 Question Id : 630680292442 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3S (DE DI - 055 YB0” O D000 HOT 2365 BANDAS 2365 DE?

L 23T F0S’ EraodOBe Soaraden — 1971
IL 2SS Qe - 2011

Options :

1. % 155

2. % 1 (b

3.9 1 0805 11 Bockr

4. % 15 S I 5°Q A 520

Question Number : 31 Question Id : 630680292442 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Natural disaster - Year’ is correctly matched?

I. Tropical Cyclones in India — 1971
II. Tsunami in Japan — 2011

Options :

1. % Only1

2. % Only I

3. % Both [ and II
4. % Neither I nor II

Question Number : 32 Question Id : 630680292443 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 57506’ 2B HTIFO TINEY DINZL S'RHAS CBIOSHZ 000D DBSE/D DE/DN?

L 5720506 55 e M 5rE0rOs0 H33%S 5550 God.
IL 2552506 28 T8 M 05T NOZ MHSTDS 955750 GO&.

Options :

1. ¥ T S50

2. % 11 S5

3. % 10805 I Bockr

4. % 52 S 1 5°Q D& 5260
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Question Number : 32 Question Id : 630680292443 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding India’s vulnerability to disaster?

I. Over 55 percent of the land area is vulnerable to earthquakes.
II. Over 28 percent of the land area is vulnerable to cyclones.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 33 Question Id : 630680292444 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PSESTIOS’ 2SO DI SN0Y AOSHITA), &S BEHE0EFE.
Options :

1. ¥ Qo023

2. ¢ 0§26 29

3. % JS000 16

4. % &Job 21

Question Number : 33 Question Id : 630680292444 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

National Disaster Reduction Day is observed in India on
Options :

1. # 23rd September

2. % 29th October

3. ¥ 16th November

4. % 21st December

Question Number : 34 Question Id : 630680292445 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2rSESTIOS’, 9838 DBET (§OCS Ed) VES 25rer0 25800 P HBKE30tI22c0e808.
Options :

1. % e9e5sHE S (D S0

2 % ©BE SR DTS U0

3. ¥ &, TP Q0GB wrer 5038 e (035 B (50

4. % 380D 300

Question Number : 34 Question Id : 630680292445 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, the areas from the stable landmass covered under the Deccan plateau are considered to earthquake.
Options :

1. # very high damage risk zone

2. # high damage risk zone

3. % moderate to very low damage risk zone
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4. % epicentre

Question Number : 35 Question Id : 630680292446 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
255 PO (SPENNS AarSed DB AOVO(HE) TIPS H020E0D 0B 757565 DA/ DBIN?

L 9€0 198165 @058 SO )06.
I 32 03N SN SPESOMT BB I0NE 199765 HEFY DSBOTTED.

Options :

IR NN

2. % 11 S5

3. % 10805 I Bockr

4. % 52 S 11 5°Q D& 5260

Question Number : 35 Question Id : 630680292446 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding India’s Air (Prevention and Control of Pollution) Act?

I. The Act came into force in 1981.
II. The Act was amended in 1997 to include noise as an air pollutant.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 36 Question Id : 630680292447 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2O (3PN VPO QOAN AODO|eH€d) WO S’ SBFO0IDEOE.
Options :

1. % 1971

2.9 1974

3. % 1981

4. % 1984

Question Number : 36 Question Id : 630680292447 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Water (Prevention and Control of Pollution) Act was passed in
Options :

1. % 1971

2.9 1974

3. % 1981

4. % 1984

Question Number : 37 Question Id : 630680292448 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Montreal Protocol is an international treaty related to which of the following?
Options :
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1. % To control the emission of greenhouse gases.
2. # To control the use of chemical fertilisers and pesticides.
3. ¥ To control the use of fossil fuels in vehicles.

4. % To control the emission of ozone depleting substances.

Question Number : 37 Question Id : 630680292448 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S $r0300S (FE'sS 0O B HODOEODD OSHT° B0 200507
Options :

1. ¥ ASSTR SPAN0Y ST AONO(EB0IB0.

2. % SPONE Q0eHEN, )0IDNOCNE SFPEHTR) AONO30TICO0.

3. % J"Xj‘@ej 2e3°23 YOO AT, AANO(30TI0.

4.9 4,58 § 29550 SB0TDS DFT°® ST AOHOSI0IC0.

Question Number : 38 Question Id : 630680292449 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DE'S B RSSO )5 Zo[RD TNES P5R (CNG) Ty (DBEPS 9030 deE3?
Options :

1. % E'S B> &3S §08 CNG FIIA.

2. % CNG 2DDBRED 3000 3R0.

3. % CNGQ &ofen SoRdoNS .

4. % CNGQ 89 BoHSLw.

Question Number : 38 Question Id : 630680292449 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is a disadvantage of compressed natural gas (CNG) over petrol or diesel?
Options :

1. # CNG is cheaper than petrol or diesel.

2. % CNG pipelines are difficult to lay down.

3. ¥ CNG cannot be siphoned off by thieves.

4. # CNG cannot be adulterated.

Question Number : 39 Question Id : 630680292450 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

L 0RO 28 DSBS De3 FAsed o7 5O €3 DENY D52 DGO 9T arsd8 TEHE 0.
Options :

1. ¥ QO DBAS

2. % 2337307 DIAS

3. % @89 AEFIO

4. % 8888

Question Number : 39 Question Id : 630680292450 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

is the natural aging of a lake by nutrient enrichment of its water.
Options :
1. ¥ Eutrophication
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2. # Biomagnification
3. # Deforestation

4. % Desertification

Question Number : 40 Question Id : 630680292451 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PESTFOST) 2SO @D DTFS0 (1988) DTS (FoTOH @D QTR D) TI0A.
Options :

1. ¥ 23 3¢40

2. % 27 3¢50

3. ¥ 33 3°50

4. % 37 3¢50

Question Number : 40 Question Id : 630680292451 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The National Forest Policy (1988) of India has recommended forest cover for the plains.
Options :

1. #* 23 percent

2. % 27 percent

3. % 33 percent

4. % 37 percent

Question Number : 41 Question Id : 630680292452 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 (ASSTR T ANYO BNB0 ZrErdE €9¢95e2)0 0B €965 OFOMP S BENTDS (50 €9s0E I 0B.

LDOBS

IL 3°8)S A3 &
I S8 e&3)&
Options :

1. % [I-ITI-I

2. ¢ 1I-I-I1I

3. % LIII-IT

4, % LII-I1I

Question Number : 41 Question Id : 630680292452 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following greenhouse gases in the increasing order of lowest to highest contribution to total global warming.

1. Methane
II. Carbon dioxide
III. Nitrous oxide

Options :

1. % II-111-1
2. TI-1-11
3. % T-IM0-T1
4, % I-1I-I11

Question Number : 42 Question Id : 630680292453 Is Question Mandatory : No Calculator : None Response Time : N.A Think
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Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

808 ¢3S 8,8°S B HOOE0D) JBIE/D DE/D?

L 2O | JE*R)005 9 DENSDT rESEE0 TBNE), 0 23H0eS EDNOA.
1L 28 A5 0B $T) @BJOS e 8GR $°A0TNHT SIS0 HATR0E.
11 & O, @8 ARIAE HEOM FenardD.

Options :

1. % 1308050 1T 35 b

2. % 1508050 I S5 badd
3. % 1108050 11T S3°(5 %0
4. % 1,11 0805 III

Question Number : 42 Question Id : 630680292453 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct regarding the ozone layer?

L. It is found in the upper part of the atmosphere called the stratosphere.
IL. Tt acts as a shield absorbing ultraviolet radiation from the sun.
III. Tts thickness is measured in terms of Doppler Unit.

Options :

1. % Only [ and II
2. % Only I and III
3. % Only IT and III
4. % 1 Il and III

Question Number : 43 Question Id : 630680292454 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

180 JEES” QD )& 2SS TF SC0E0- 637¢3 €SN 23508

fcien edadow
I | Boeadd 1 | doorizig
I | gy 2 | &rd
| s=58 3 | doodd
V| g g 4 | 5dd

Options :

1. % 14, 01-2, II-1, TV-3
2. % 12, 1I-1, 111-3, V-4
3. ¢ 1.3, II-1, 111-4, IV-2
4. % 11, 11-3, 11I-4, IV-2

Question Number : 43 Question Id : 630680292454 Is Question Mandatory : No Calculator : None Response Time : N.A Think

Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Match the following with respect to the "Rivers in India" with the concerned tributaries:
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Rivers Tributaries
I | Godavari 1 | Tungabhadra
I | Krishna 2 | Lohit
T | Kaveri 3 | Manjra
IV | Brahamaputra |4 | Kabini
Options :

1. % 1-4,11-2, I1I-1, TV-3
2. % 1.2, 1I-1, 1I-3, IV-4
3.9 1-3, 11-1, 1114, IV-2
4. % 1.1, 11-3, 111-4, IV-2

Question Number : 44 Question Id : 630680292455 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
ESTBIOS 80 (BFOTOL ©¢55e)0 0 95 5EE 52D STTeH0 DEHIEAD) (50" S I0A.

L 5O

IL 5363 30

I D)o T°BY°Q
Options :

1. % 11I-I-11

2. % JII-1I-I

3. % LII-II

4. % I-JI-1I1

Question Number : 44 Question Id : 630680292455 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following regions of India in the increasing order of lowest to highest seasonal rainfall.

I. Chhattisgarh
II. Western coast
III. Western Rajasthan

Options :

1. % III-1-11
2. % II-1I-I
3. % [-II-II
4, % [-II-TI1

Question Number : 45 Question Id : 630680292456 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2PSESTIOS &5 18O SO €983 58065 CHY) VOB €983 DBVYeS STCHY BB T¢I Fchad TZNEY DDA
1800’ @S)08.

L 538

1L 538
IIL DS
Options :

1. % III-1-11
2. % II-11-1
3. L-III-11
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4. % [-II-II1

Question Number : 45 Question Id : 630680292456 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following rivers of India in the increasing order of their length, starting from the shortest to the longest.

I. Kaveri
II. Godavari
III. Mahanadi

Options :

L. % II-I-11
2. % MI-I-I
3. [-III-II
4. % I-II-I11

Question Number : 46 Question Id : 630680292457 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& B 2PBEBTFOS Q) TTIBE DBV 9T, 230598 H0G G0V SBE NS S°EB0cSS” Iy 5T
50 0B VNS ST OO0 HBE (E00S” 9508 )0B.

L. 350

II. ST°5°©0
11 30 5700
Options :

1. % III-I-11

2. % [II-11-1

3. 111111

4. % 1-[I-I1I

Question Number : 46 Question Id : 630680292457 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of the climate of northern India, arrange the following seasons in correct chronological order of the modern calendar,
starting from January to December.

1. Winter season
II. Rainy season
III. Summer season

Options :

1. % II-I-11
2. % MI-NI-I
3.9 [-III-II
4. % I-II-I11

Question Number : 47 Question Id : 630680292458 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2BE & 50 EFIDAD 2SS STI0 T3NEY DB (8OSrFe M) D0 S &od.
Options :

. % 08D

2. ¥ @©0BI”S 0O AT 2D AHen

3. % HANTHO
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4. % OBY

Question Number : 47 Question Id : 630680292458 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

India’s only active volcano found on Barren island is located in
Options :

1. # Lakshadweep

2. % Andaman and Nicobar group of Islands

3. ¥ Puducherry

4. # Ladakh

Question Number : 48 Question Id : 630680292459 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

INOWOS'T @B BT SBBE & 550  HES' &od?
Options :

1. ¥ (207 ¢

2. % 0

3. % Bod

4. % 388

Question Number : 48 Question Id : 630680292459 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The largest inhabited riverine island in the world is located in which river?
Options :

1. % Brahmaputra

2. # Indus

3. % Ganga

4. % Narmada

Question Number : 49 Question Id : 630680292460 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 ¢3S 2rEHTBFOS’ @3 SHODAES DB Y DE?
Options :

1. % DO HBNY

2. % oS SSN)

3. ¢ red BN

4. % J28S S8

Question Number : 49 Question Id : 630680292460 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is the largest freshwater lake in India?
Options :

1. ¥ Chilika Lake

2. # Dal lake

3. % Wular lake

4. # Nigeen Lake
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Question Number : 50 Question Id : 630680292461 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Article 9 of the Indian Constitution mentions

Options :

1. ¥ Rights of citizenship of certain migrants to Pakistan

2. % (itizenship at the commencement of the Constitution

3. % Persons voluntarily acquiring citizenship of a foreign State not to be citizens

4. % Rights of citizenship of certain persons of Indian origin residing outside India

Question Number : 50 Question Id : 630680292461 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2Geh 0o 00 ) e9BEEE0 9 Q D&Y 0EN0A.

Options :

1. # PEI°RE0 9D 9D ) T8 eBDeS § 2800

2. % 07235000 (S0 RN )ES DS Hed g0

3.9 0585)0C0MT TP T° (5 DS, OO $550exn D Brenm 0y

4. % 23785350 FENNE JIVN) 2788 H0hed8 TOAS FOHNOE 580 DB § T80 0

Question Number : 51 Question Id : 630680292462 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
806 ¢3S’ e8¢ Trars0B0eS &S (FGMNE DENOZ H0D0E0D JBSE/D DE/D?

L 23°5¢5 T°23°5050CS” 2E8) (PGS NN S Ow.

1L [2PGE DN D3B0TIHTR).

1L 275 ¢b T°a 5080 R OSSO SIAS [BPGHNE DO 2Ee TONDTFTOW.
Options :

1. % 1308050 I S3(¢bad

2. % 1 0005 1T 857 ehadd

3.9 11 OO 11T S3°(5 330

4. % 1,11 8% III

Question Number : 51 Question Id : 630680292462 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is correct regarding Fundamental Duties mentioned in the Indian Constitution?

I. There are seven Fundamental Duties in the Indian Constitution.
II. Fundamental Duties can be amended.
III. Fundamental Duties are listed in Article 51A of the Indian Constitution.

Options :

1. % Only I and II
2. % Only I and 111
3. % Only II and I11
4. % 1 IIand III

Question Number : 52 Question Id : 630680292463 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 ¢3S 278 eh T3 s0MT8 H0200E0D HBIE/D DE/D?
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L D& T°alen 2°8ed U250 N0 50 QST FP0DY).
11 RESD2B0(DW S T°2350) 23S b T30 ©F €90 S°CN.
Options :

(T NS

2. % 1 (b

3. % 10805 I Bocky

4. ¥ 150 S 11 5°Q D& 5280

Question Number : 52 Question Id : 630680292463 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements is/are correct regarding the Indian Constitution?

I. Individual states do not draw their authority from the Indian Constitution.
II. Federalism is not a feature of the Indian Constitution.

Options :

1. # Only I

2. % Only II

3. % Bothland II
4. % Neither I nor 11

Question Number : 53 Question Id : 630680292464 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2r8ed T3 5000 (DSPB0, o 8.0 BT e85 ¢ QB0 30 88239205808,
Options :

1. # 5925 Harsded

2. % 35 22)00 DD

3. ¢ 208 O°Qded

4. % 2786 D

Question Number : 53 Question Id : 630680292464 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the Indian Constitution, the supreme command of the Defence Forces of the Union is vested on the
Options :

1. # Speaker of the House of the People

2. % Chief of Defence Staff

3. % President of India

4. % Prime Minister of India

Question Number : 54 Question Id : 630680292465 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

DS’ FE0 BRI S8 D258 DB H)0E T S?
Options :

1. % 285333 (D5 Soled

2. % 238ed 07 Qe

3. ¢ S5 025 )86

4. % S H3S 0695085 HAOHE HEHICH
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Question Number : 54 Question Id : 630680292465 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who suspends the meeting of the House of the People when there is no quorum in the House?
Options :

1. ¥ Prime minister of India

2. % President of India

3. % Speaker of the House

4. % Senior most member of the House

Question Number : 55 Question Id : 630680292466 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2SS DHOTD 5T 3 DO OTIDETS.
Options :

1. % 278e5T3% (DS D0o(ed

2. ¥ 23865 07N

3. % &5 025 )56

4. % 0735025 TOD

Question Number : 55 Question Id : 630680292466 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Judges of the Supreme Court of India are appointed by
Options :

1. % Prime minister of India

2. % President of India

3. ¥ Speaker of the House

4. % Chairman of the Council of the States

Question Number : 56 Question Id : 630680292467 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ODOED) T°500XTEO Seharercd AGON0THIE .
Options :

1. % 23S83% (DG O(ed

2. % 230%¢d O°Rded

3. % 2865 |05 50000

4. ¢ 25378¢h POIJ00EN

Question Number : 56 Question Id : 630680292467 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The salaries of the Supreme Court judges are determined by
Options :

1. % Prime minister of India

2. ¥ President of India

3. # Chief Justice of India

4. % Parliament of India

Question Number : 57 Question Id : 630680292468 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
808 B’ 2785 TR ALEES DS e TOHHEE?

L &5 02550 D) IS dahsen.

I1. 723§ D2380 TPaNEd BANDAS d2hsen.
1L 0723502550 D) B daddgen.

Options :

1. % 0005w 1T $35°(¢had

2.9 130805 1T 355

3. % 1108050 11T S3°(¢H %0

4. % 1,11 0808 III

Question Number : 57 Question Id : 630680292468 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who of the following can vote in the election of the President of India?

1. Elected members of House of the People.
II. Nominated members of Council of States.
III. Elected members of Council of States.

Options :

1. * Only I and II
2.% Only I and III
3. % Only IT and III
4. % 1 Il and III

Question Number : 58 Question Id : 630680292469 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2305658 2023 °¢38 €9¢55€2)0 0B @& sE 525 ATBFBESIT° HOYES F00ES’ 80 T TS NS )0&.

I. ®J°)0
IL 253"
111, 38

Options :

L. % II-I-11
2. % MI-I-I
3.9 [-I-1T
4. % I-II-I11

Question Number : 58 Question Id : 630680292469 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following states in the increasing order of lowest to highest number of Lok Sabha constituencies, as on January 2023.

1. Assam
II. Odisha
III. Kerala

Options :

1. % II-I-11
2. % MI-I-I
3.9 [-I-11
4. % I-II-I11
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Question Number : 59 Question Id : 630680292470 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What is the correct chronological order of creation of the following states of India?

1. Mizoram
II. Assam
II1. Nagaland

Options :

1. # II-1-111
2. % [I-II-1
3. % TII-11-1
4, # I-II-11

Question Number : 59 Question Id : 630680292470 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

PESTI0S’ & |80 TGO € JT°IBI S0 SEFSOTT BN DT YT Q) HOG SO SOT DT*IBIS
O 5T (8006 @3 )0&?

L. &G0

I1. @0

III. o>*reero &
Options :

1. % JI-I-I1I

2. % 111111

3. % III-11-1

4, % I-II-111

Question Number : 60 Question Id : 630680292471 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 STOEDOD @) JT°YBN S0 STFSOM RN DT I Q) DH0G SO0 JT°Y BN T 1§00’
08 )0d%.

L $505750¢3 BISOD0E (Fred
I1. 748 T°e3*508 Dad8€a WHEO
111 .3.500S e

Options :

1. % TI-I-IT1
2. % MI-I-1
3.9 [-III-11
4, # I-1I-I11

Question Number : 60 Question Id : 630680292471 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following events in the correct chronological order.

I. Community Development Programme
II. 74th Constitutional Amendment Act
1. P.K. Thungon Committee

Options :
1. % II-I-T11
2. % MI-1-1
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3. % [-III-11
4. % I-II-II

Question Number : 61 Question Id : 630680292472 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2011 272> BELO (PSSO, 27SESTS 23vereSS NSFE 08 HEED @”O@ej QDT K.
Options :

1. ¥ 24 3°¢50

2. % 26 50

3. ¥ 31 3°50

4. % 36 350

Question Number : 61 Question Id : 630680292472 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per the 2011 census, about of India’s population lives in urban areas.
Options :

1. # 24 percent

2. % 26 percent

3. % 31 percent

4. % 36 percent

Question Number : 62 Question Id : 630680292473 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
25 T°a350%50 |95°50 808 e3¢5 ETIS - (FABS' DO BSTONDES 2365/ JE/?

L D05 GTLS - HOTTONEBE LOBTTEN BN 255N,
IL DT 0655 BT5S - S0V BT DB 27550 INABX.

Options :

(T NS

2. % 11 S5

3. ¢ 1 0805w 11 Bocky

4. % 150 B 11 5°Q O 5260

Question Number : 62 Question Id : 630680292473 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following pairs of ‘Schedule — provision’ is/are correctly matched, as per the Indian Constitution?

I. Eleventh Schedule — Powers, authority and responsibilities of Panchayats.
II. Twelfth Schedule — Powers, authority and responsibilities of Municipalities, etc.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 63 Question Id : 630680292474 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Which of the following Constitutional amendments made the provisions relating to rural local government?
Options :

1. % 7lst
2. % 72nd
3. % 73rd
4. % 74th

Question Number : 63 Question Id : 630680292474 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 ¢3¢’ & T2 501 DB (TPaded DA (D2NE S8 HODOAONS (FABRD DT YEN TOOE?
Options :

1. % 71

2. % 728

3. 7385

4. % 74

Question Number : 64 Question Id : 630680292475 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

238 508 oS B Y0NS TAIS @82 DB TR0 B?
Options :

1. % 250(530 es23

2. % 230 JOMPY 88

3. ¢ 020 oSSR

4. % HTE SKS ob

Question Number : 64 Question Id : 630680292475 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who raised the Azad Hind Fauj or the Indian National Army?
Options :

1. # Chandrashekhar Azad

2. # Bal Gangadhar Tilak

3. % Subhas Chandra Bose

4. % Sardar Bhagat Singh

Question Number : 65 Question Id : 630680292476 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1955 30 Adre8E-00eh HODY B €I DBOM, 2D BELTr 808 ¢3S BIS H0200¢90 EOR ) 30?
Options :

1. % 368370 €5C5500

2. % O30S 230 €550

3. % Tro08)R AN

4. % 30 SrS Of

Question Number : 65 Question Id : 630680292476 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of the socio-religious reform movements of the 19th century, Henry Derozio was associated with which of the
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following?
Options :
1. # Self Respect Movement
2. % Young Bengal Movement
3. # Ramakrishna Mission

4. # Home Rule League

Question Number : 66 Question Id : 630680292477 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
er0N8 @ HVSRY, DI T°FEK?
Options :

1. % DTS ©0235),5

2. ¥ BT JTS

3. % 020N 203

4. % 50Ced B32rom

Question Number : 66 Question Id : 630680292477 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Who wrote the book named Gulamgiri?
Options :

1. * Bhimrao Ambedkar

2. % Jyotirao Phule

3. # Tarabai Shinde

4. % Pandita Ramabai

Question Number : 67 Question Id : 630680292478 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

25 23308 SO S F"D0IDEOE.
Options :

1. % 1865

2. % 1875

3.9 1885

4. % 1895

Question Number : 67 Question Id : 630680292478 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Indian National Congress was established in
Options :

1. % 1865

2. % 1875

3.9 1885

4. % 1895

Question Number : 68 Question Id : 630680292479 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2085 37 2G5 23D ECI5STD DSOMP, BOE HDONEIN B SO TR 0BG SDOIOM SO
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SBB OB N SOOI O0 @080,

L 25908 E008

1. ZBomre D323

ML 2OAHS arererh erdse
V. 3205050 &¢55:00
Options :

1. % [LI-I-TV

2. % LII-IV-II

3. % [LIV-I-I1I

4. ¢ -1V

Question Number : 68 Question Id : 630680292479 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of the Indian national movements of the 20th century, arrange the following events in correct chronological order.

1. Simon Commission

II. Partition of Bengal

III. Jallianwala Bagh massacre

1V. Civil Disobedience Movement

Options :
1. ® [I-I-1I-1V
2. % [-II-TV-II

3. % II-IV-I-III
4. & I-I-I-1V

Question Number : 69 Question Id : 630680292480 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
"RT28E D038 HOR"E H0220E0D 80 ¢33 TR "HSITHEEN"S 235 TADO:

208 .;ﬁ}s.ﬁ.ﬁ":}e’;om
@ ]
I | piff) Dars 1 | E@od o
I E‘oﬁﬁ‘cﬁé PATS 2 | orodrarh Tra
i ﬁ'(ﬁé‘{oaﬁj"é 3 3“5.;')3 cadraocs
z‘adz‘aSa

Options :

1. % 1-3,11-2, II-1
2.9 1-2, 1I-1, 111-3
3. % I-1, 1I-3, 1I1-2
4. % 1-2,11-3, I1I-1

Question Number : 69 Question Id : 630680292480 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following with respect to the "Social reform organisation" with its "founder":
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Organisation Founder
I | Brahmo Samaj | 1 | Jyotirao Phule
I .Satyas_shodhak 2 | Rammohun Roy
Samaj
: . | Swami Dayanad
III | Arya Samaj 3 o

Options :

1. # 1-3,11-2, III-1
2. % [-2,11-1, I1I-3
3. % I-1,11-3, III-2
4, # 1.2, 11-3, 1111

Question Number : 70 Question Id : 630680292481 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(P00 27T H(BE IO S’ ©90NS’ I SDYOA.
Options :

1. % 1858

2. % 1868

3.9 1878

4. % 1888

Question Number : 70 Question Id : 630680292481 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The Vernacular Press Act was enacted in
Options :

1. % 1858

2. % 1868

3.9 1878

4. % 1888

Question Number : 71 Question Id : 630680292482 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOKBD DOISY (DETFPE  33B0 e 5778 3800 ¥R S0 d.
Options :

1. % 1963 0 1968

2. % 1961 0O 1966

3. % 1951 Q0 1956

4. % 1956 O 1961

Question Number : 71 Question Id : 630680292482 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Second five-year plan covered the period from
Options :

1. % 1963 to 1968

2. % 1961 t01966

3. % 1951 to 1956
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4.+ 1956 to 1961

Question Number : 72 Question Id : 630680292483 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which five-year plan was based on Harrod-Domar Model?
Options :

1. ¥ Fifth Five Year plan

2. % First Five Year plan

3. # Second Five Year plan

4. % Third Five Year plan

Question Number : 72 Question Id : 630680292483 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEE-E00 J°%S B0 &) HOISY (DT DE BrerodOIDR0EH?
Options :

1. % 500985 D0 (DeT P

2. % 03¢ H0ISY (DET P

3. % B0 DO (Dear@E

4. % 305°¢805 HOISY (HeT DY

Question Number : 73 Question Id : 630680292484 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

30506 T°B80DH 97 SO 2rSSHTF0 TINEY & DOTINE DT DS BOBL 00T HEOE?
Options :

1. % B0 DOVRY (Dear@E

2. % DS HONNEG (DeTr

3. ¢ QAND DOTISY (DT P

4. % €885 HOISY (DT DY

Question Number : 73 Question Id : 630680292484 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which five-year plan of India was postponed by two years because of political uncertainty at the centre?
Options :

1. # Second Five Year plan

2. ¥ Seventh Five Year plan

3. ¥ Eighth Five Year plan

4. # Sixth Five Year plan

Question Number : 74 Question Id : 630680292485 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1S STI0S H5STOD DRS0"E HOOE0D E0E eI D00 "Eseh )B"S 8SHBTI0S:
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JRaren &dndoewn
I | Doy Jndo 1 | Jren
I %53 Do 2 Dy dain
Srdnraben
] 2¢g Dado 3 | & fozen

Options :

1. # I-1,11-2, I1I-3
2. % [-2,11-1, II-3
3.9 1-3, 11-1, III-2
4, # 1.3, 11-2, 1111

Question Number : 74 Question Id : 630680292485 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the following with respect to the "agricultural revolution in India" with the concerned "product":

Revolutions Products
I | Yellow Revolution | 1| Milk
IT | White Revolution | 2| Fruits and Vegetables
I | Golden Revolution | 3 | Oilseads
Options :
1. # I-1, II-2, I1I-3

2. % 1-2,1I-1, III-3
3.9 1.3, 11-1, 112
4. % 1.3, 1I-2, 1II-1

Question Number : 75 Question Id : 630680292486 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
D £50|TSS0SE0 arESTIOS FBFNE ©0DIYRE H0D0B0D, EOB HOMEIN SO(EN0 JE3?

. & 5065 DS S0

I (DET PS> OGN0 DT )EN

1L S0¢5¢3 FB|FNE DTS 85750
Options :

1. % III-I-11

2. % [I-I-I1I

3. ¢ 111111

4. % [I-11-1

Question Number : 75 Question Id : 630680292486 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
With reference to the industrial development in India after Independence, what is the chronological order of the following events?

I. Early Green Revolution period
II. Setting up of the Planning Commission
II1. First Industrial Policy Resolution

Options :
1. # II-I-11
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2. % qI-I-11
3. ¥ 1II-11-1
4. % JI-111-1

Question Number : 76 Question Id : 630680292487 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
P, Q, R, S, T, Us000in Vesd Db a8 HhdeT edordangor 51y &™) & (570 o @Dai\‘) S006 D

ﬂmamad:} w:loa"ﬂ:}.ﬁ e@S0do Fcd). U ed ;5?55 SHVD IS0 D0 ol Todkd Q‘&‘meﬁ" &mud.). Udoin Te
SGHE” RGH SrPDo SrdD &Iy . R i I8 T 9 SL030 6D L) &%) 0. V eodd 318 R £ Ik D) e
g“a‘mﬁ‘ &am) . Qe 55 S H HE LY TYD .g"c“aoeﬁ‘ &%) .

S00 SyHodd T SraNDY Q‘a"vﬁ ad Jabod.

S5 Qoo
I |P 1 | Shdh et DBG
R 2 | HHd D58 food Totsd
v 3 | HdH Mg
Options :

1.¥1-2,11-3,1I1-1
2.% 1-2,111-3,1I-1
3.% I1-2,11-3,1-1
4, % M1-2,11-3,1-1

Question Number : 76 Question Id : 630680292487 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Seven perons P, Q. R. S, T, U and V are sitting in a row facing towards the north (not necessarily in the same order).
U is at second position from the left end of the row. Only two persons are sitting between U and T. R is to the
immediate left of T. V is third to the left of R. Q is fourth to the right of S.

Match the following persons with their places of sitting.

Person Place
I1|P 1 | Left end of the row
II |R 2 | Second from right end
m| v 3 | Middle of the row

Options :

1. 1-2,11-3,1II- 1
2.0% 1-2,111-3,11-1
3% I1-2,111-3,1-1
4, % qII-2,11-3,1-1

Question Number : 77 Question Id : 630680292488 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2083 L2 HIES0 0N 37 Bered S0 eed 533 ) e DeE3?
Options :

1. % 3780

2. ¥ 8080
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3. % QB0
4. % HE>S0

Question Number : 77 Question Id : 630680292488 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If today is Friday, then what will be the day after 37 days?
Options :

1. # Saturday

2. % Sunday

3. * Monday

4. % Friday

Question Number : 78 Question Id : 630680292489 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

P1, P2, P3, P4 08050 P5 @& 5 €330 F0B0 0 DETB0 SBE0 071D TDADDFON. B2380 2,8) esd
(5330 DT?)EN TONDBOE. P3 20730 823 DT)EN TONDR0E. P1 @0 €38) P250 S0 $T° e Fa°d
DTN TOANDR0E. P23 FNTE0 T®YEN WO TSN, P4 S00KSTE0 DT )en AN F0dSBK.
€900 [80B ¢3S FDTB0 OB DHIFT B0 SBB L TNE), DTS (5690 D ?

Options :

1. % P5, P1,P3, P4, P2

2. % p1,P5,P3, P2, P4

3.+ P4, P5, P3, P2, Pl

4. % p4, P5,P3,P1, P2

Question Number : 78 Question Id : 630680292489 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 plays P1, P2, P3, P4 and P5 are arranged from Monday to Friday. Only one play is arranged on each day. P3 is arranged on
Wednesday. P1 is arranged on the next day of P2. P2 cannot be arranged on Monday. P4 cannot be arranged on Tuesday. Which of the
following is the correct order of plays from Monday to Friday?

Options :

1. ® PS5, P1, P3, P4, P2
2. % P1,P5,P3,P2, P4
3. % P4, P5, P3,P2, Pl
4. % P4, P5,P3,P1, P2

Question Number : 79 Question Id : 630680292490 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1BO& (D% (B0 §Q) 1DEESEN BN 5IB, € ST €8 [HESD STSOMT §Q) DB S5y, BD)S
1IEEISEN TGS FRTOZD DY O €509 €D @O IE3E ae3Q &b SNV HOHES0TI0A. )
DX DA AN (DELI OB &°8E0M €9 DIB0T DEFITTR), AQON0IOR.

[CSETATNIOMW
I.D &0 &) G ew.
II. §£Q) Aen D ew.

DG §ATICCN:
L&) D e G e 5.
I1. G QOO A 5°X0.
1L D QOO A 5°0.
Options :
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1. % DG5S I 8308050 I € 5575 a3d OB 00
2. % DS T 0O I e S5 ¢had e 00800
3. % DE5IS0 M 8575330 @O0

4. ¥ HESTTOS” A OB

Question Number : 79 Question Id : 630680292490 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question below are given some statements followed by some conclusions based on those statements. Taking the given
statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which
of the given conclusion logically follows the given statements.

Statements:
1. All D are G.
II. Some A are D.

Conclusion:

1. Some D are not G.
II. No G is A.

III. No D is A.

Options :

1. % Only conclusions II and III follow
2. % Only conclusions I and I1I follow
3. # Only conclusion III follows

4. % None of the conclusion follows

Question Number : 80 Question Id : 630680292491 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 (D% (B0 §Q) 1DEESEN BN LIB, €3 ST €8 [HDESD &SSO §Q) DB 5y, BD)S
1IEEISEN TGS FRTOZD DY O €59 €D @O IE3E a3e3Q &b sSNENTTR HOHES00S. )
DEFITTOD A BRYN (DEEINE DO @°8). 50 9 NNB0T DB FITTR) AQONOH0&.

(DELSen:

LEJ)EewPew.

1. H Q&0 P 5°.

DG AT CeN:

LSQ) Hen E ex.

11 P OO E 5°¢.

Options :

1. % D500 1 57530 @9 000N

2. % HS5RPI0 1T 83765530 @900

3. % 108 I ©F BO DS 5XTPeN €900
4. ¥ DSOS D €9 IS0

Question Number : 80 Question Id : 630680292491 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question below are given some statements followed by some conclusions based on those statements. Taking the given

statements to be true even if they seem to be at variance from commonly known facts. Read all the conclusions and then decide which
of the given conclusion logically follows the given statements.

Statements:

1. Some E are P.
II. NoHisP.
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Conclusion:
1. Some H are E.
II. NoPisE.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusions I and II follows

4. % Neither conclusion follows

Question Number : 81 Question Id : 630680292492 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the question given below, relationships between different elements are shown in the statements. These statements are followed by
two conclusions. Give answer:

Statements:
I.LJ<K<L<M
ILL<N<O

Conclusions:
1.LO>J
II. M>N

Options :

1. # Only conclusion I is true

2. % Only conclusion II is true

3. # Neither conclusion I nor conclusion II is true

4. % Both conclusions I and II are true

Question Number : 81 Question Id : 630680292492 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

1BOB (0%, IB B0 @077 3855 D000 [HDEELISOE TTIDB0E. &2 (HELISE S0 B DESIITeN
QI SO, DITPGPI0 Red §0:

DEOSe:
[.LJ<K<L<M
I.LL<N<O

DB §ITCeN:
LO>]
IL.M>N

Options :

1 ¥ HE5560 1SS 5540

2. % DSRS0 1T 33765330 Db e

3. % HETI0 1 5°Q B3 DBIT0 I 5°Q) I Db 5260
4. % 100050 I 9T DO DS FITTEN Deb§adn

Question Number : 82 Question Id : 630680292493 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
C1, C2, C3, C4, C5, C6, CT 08050 C8 ©F 8 DD0BS IF°er5en &Fed Y2 ON. o B0 0B 2,8 J3°ersd) $OA
B. C1O 520 €78 5 A& 2,50 IF° 30 9¢55>)0. C4 IF°© 50 C1 0TI B0 80880 €5 0T ¢5803.65. C6
JF°D50 €3 0BA C2 FOTI X553 58003, C5 FF°50 C7 S0 C8 JF°50 FOTI 88038, 8 DO0BY
I (38 H020HH0D (80 & 0D HE0 S0 S°E?
Options :
1.% C1<C4<C5<C7<C8<C6<C2<C(C3
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2.% C1<C4<(C5<(C7<C8<C6H<C3<C2
3.9 C1l<C4<(C5<(C7<C3<C6<(C2<C(C8
4. % C1<C4<(C5<(C8<(C7<C6<(C2<(C3

Question Number : 82 Question Id : 630680292493 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Area of 8 cylinders C1, C2, C3, C4, C5, C6, C7 and C8 is compared. No two cylinders have same area. Area of either C1 or C7 is the
least. Area of C4 is more than C1 but less than C5. Area of C6 is less than only C3 and C2. Area of C5 is less than C7 and C8. Which
of the following sequence regarding the areas of these 8 cylindersd is NOT possible?

Options :

1. % C1<C4<C5<(C7<(C8<C6<(C2<C(C3
2.% Cl<C4<C5<(C7<C8<C6<C3<(C2
3.9 Cl<C4<C5<C7<C3<C6<C2<C8
4, % C1<C4<(C5<C8<(C7<C6<C2<C3

Question Number : 83 Question Id : 630680292494 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.8 (363 RN 5008, 90ONS 0N 2.8 D50 BE. & 363 r8 BANNOT HBTS (D&EPsese) AT, DI
R0 QoNT0R.

AES5, BF12, CG21, DH32, ?
Options :
1. ¥ EI45
2. % EIl3
3. ¥ EJ50
4. % EJI5

Question Number : 83 Question Id : 630680292494 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

AES5, BF12, CG21, DH32, ?
Options :
1. ¥ EI45
2. % EII3
3. ® EJ50
4. % EJI5

Question Number : 84 Question Id : 630680292495 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2.8 (363 255008, @0 0O 2.8 HEI0 BE. &8 (363 I8 TOLHOT HBT (DTPE5) AP, RIS
0B Qo od.

TMRC, VOUF, XQXI, ZSAL, ?
Options :

1. ¥ URQT

2. % BUDO

3. ¥ BMNQ

4. % QNRT
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Question Number : 84 Question Id : 630680292495 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

TMRC, VOUF, XQXI, ZSAL, ?
Options :

1. ¥ URQT

2. % BUDO

3. ¥ BMNQ

4, % QNRT

Question Number : 85 Question Id : 630680292496 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider the string given below made up of letters. Which letter will be 8th to the right of the letter which is 9th from the left end?

APKRAGCMCZKSIJPOOZBWTQLARO
Options :

1.¥ 7

2.% 0

3.% B

4. % W

Question Number : 85 Question Id : 630680292496 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

08T HOEDS0 TOHDES 0858 DBHEF0TI0. D80 DB N0 95 F0S’ &) 08 P8 AR
853 %30 D EOLNOE?

APKRAGCMCZKSJPOOZBWTQLARO
Options :

1.¥Z

2.%0

3.%B

4. % W

Question Number : 86 Question Id : 630680292497 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0 200G 9 @OBOS HOEDI0 TS 180 ©HBEX HONEFOIOR. 850 ¢5F £33 MO HT3.) OO $E
300N 788 DA B 3e0 Q) &) ON?

7383878733338338838837833
Options :

1. %3

2.9 4

3.%5

4. % 2

Question Number : 86 Question Id : 630680292497 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Consider the string given below made up of digits from 0 to 9. How many 3's are immediately followed by 8 and are NOT
immediately preceded by 7?

7383878733338338838837833
Options :

1. %3

2.4

3.% 5

4. % 2

Question Number : 87 Question Id : 630680292498 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

28 Q0Q §& 27N, ‘ROCKET’ & “TQEMGV TP (T r. &8 86 27065’ ‘SENATE’) e 3ol 0?
Options :

1. ¥ UGPDUG

2. % VGPCUG

3. ¥ UGPDVF

4. UGPCVG

Question Number : 87 Question Id : 630680292498 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a certain code language, ‘ROCKET"’ is coded as ‘TQEMGV’. What is the code for ‘SENATE’ in that code language?
Options :

1. ¥ UGPDUG

2. % VGPCUG

3. # UGPDVF

4. ¥ UGPCVG

Question Number : 88 Question Id : 630680292499 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

253 &7 A5, DBV, SIS ESSOM DO TANTEY, SFPEIT DO GHT™R), DT DEVE?
Options :

1. % 580

2. % &)

3. &s711) 0HO

4. % [

Question Number : 88 Question Id : 630680292499 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If South-East is called West, South-West is called North and North-West is called East, then what will be North be called as?
Options :

1. # South

2. % East

3. % South-East

4. # South-West

Question Number : 89 Question Id : 630680292500 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
BO& 1H%).E°, 9D 0DITE OB HODOES €8 & 2365 VOO 0.

JW:LY ::?
Options :
1. #* SU:SB
2. % KX :MZ
3. % MN:0Z
4. % 7B : AQ

Question Number : 89 Question Id : 630680292500 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the related letter pair from the given alternatives.

JIW: LY 2 ?
Options :
1. # SU:SB
2. % KX :MZ
3. % MN:0Z
4. % 7B : AQ

Question Number : 90 Question Id : 630680292501 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BO& 1H%).E°, 9D 0DITE OB H0DOES €8 & 2365 DOTHE0S.

AN :SF::?
Options :
1. % SU: PQ
2. % RL:TW
3. % AY :DE
4. % EY : DJ

Question Number : 90 Question Id : 630680292501 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the related letter pair from the given alternatives.

AN :SF::?
Options :
1. % SU: PQ
2. % RL: TW
3. % AY :DE
4. % EY : DJ

Question Number : 91 Question Id : 630680292502 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
831031, T @8 & 236560 0D IO’ RS SOTON. (H)E0 DBIRN) &), @F T7eN (130 ALY e
©Z 07O 2,558 @83 5°050/Q00N0/D0D0H0S HODOGT), O ) 0m. €8 &°8)5°0%0/0NS0/

D000 STTEBOMT 5057 BT SOMT Er*) 0N 5°R) 2,8¢3 33780 D)0 S0&. DD DD )YSO O HS) 0
&) AR TS0,

Options :
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1.¥ EL - GI
2. % KM —NIJ
3. % AR-DO
4. % JP - MM

Question Number : 91 Question Id : 630680292502 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, four letter pairs are given. The letters on left side of (—) is related to the letters on the right side of (—) with
some Logic/Rule/Relation. Three are similar on basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Options :

1. ¥ EL - GI

2. % KM —NIJ
3. % AR-DO
4. % JP - MM

Question Number : 92 Question Id : 630680292503 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BO& 1H%).S° D) 0D ITE HOG D) DS 98070 HAFFTR) DotHEod
Options :

1. # RST

2. % FGH

3. ¥ BCE

4, % LMN

Question Number : 92 Question Id : 630680292503 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the following question, select the odd letter/letters from the given alternatives.
Options :

1. % RST

2. % FGH

3. % BCE

4. % LMN

Question Number : 93 Question Id : 630680292504 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1BO& (0%)65, 3D 1363 515 DOWID DD IF DO DOTHE0A.

15,17,21,29,45,?
Options :

1. % 70

2.9 77

3. % 80

4, % 85

Question Number : 93 Question Id : 630680292504 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the missing number from the given series.
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15,17,21, 29, 45,?
Options :

1. % 70

2.4 77

3. % 80

4. % 85

Question Number : 94 Question Id : 630680292505 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the following question, select the missing number from the given series.

200, 199, 203, 176, 192, ?
Options :

1. % 60

2. % 66

3.9 67

4. % 170

Question Number : 94 Question Id : 630680292505 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
1BO® (D%, 3D 3EFS” 525 DD DDIFE DO DOTHEFOH

200, 199, 203, 176, 192, ?
Options :

1. % 60

2. % 66

3.9 67

4. % 170

Question Number : 95 Question Id : 630680292506 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
&3 193265 Q BOCH HDOWEE (HOWS'Q LO0TD S°CN) DD DBDIB0 S8 )0 @ ST° DEBEI0 200))
)0 E?

7x9-8+2+3=26
Options :

1. % 700605 3
2.% 9 NBAW 3
3. % 20805 3
4. % 7086050 8

Question Number : 95 Question Id : 630680292506 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
By interchanging which two numbers (not digits) the equation will be correct?

Tx9-8+2+3=26
Options :
1. % 7and 3
2.% 9and 3
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3. % 2and3
4. % 7and 8

Question Number : 96 Question Id : 630680292507 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

O BE 2023-24 (PSSO 2022-236° BOOMPET SONE STFONO DOES?
Options :

1. #® Rs. 371115

2. % Rs. 317511

3. % Rs. 317115

4. % Rs. 317151

Question Number : 96 Question Id : 630680292507 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the per capita income of Telangana in 2022 — 23 as per state budget 2023-24?
Options :

1. # Rs. 371115

2. % Rs. 317511

3. % Rs. 317115

4. % Rs. 317151

Question Number : 97 Question Id : 630680292508 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘Boomre 38): [BOBB0R AT Y €0 DBIV” SO (DGO, 2014-1565° BOOTTE) SOIE STPONO R 230D
SOOI SO0 0T BEW &GO,

Options :

1. % 043

2. % 243

3.91.43

4. % 343

Question Number : 97 Question Id : 630680292508 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per ‘Telangana’s Journey: Trailblazing its Way to Success’ report, in 2014-15, the per capita income of Telangana was
times that of National per capita income.

Options :
1. % 0.43
2. % 243
3.9 143
4. % 343

Question Number : 98 Question Id : 630680292509 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 3°¢3 WA, DTN (DEEIS/OX DOTHTOR.

(A) 2014-1565° 1165 0 H0G VB SEOS 2022-23 HOXSIE0ES” SIS e3crOH0S’ 9 H03e5 )T 535S’
SOOMED 5 Tl 9OHEN0), 405 T°0800 T RO &5)DODOA.
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(B) 2014-15 00 2022-23 SBE0 (W5 ¢ASE [DSS0 12.1% 0B VS 93 $5& 6.3%, S8 7O Q) T°are S’
B 508 30006 BOOMED e9e85HE DD YA FEO0D0E.
Options :
1. ¥ (A) 85 (B) @0 Bockye
2. % (A) 5 S (B) 5°Q O 5260
3% (A) Sl
4. % (B) S°(¢Hod

Question Number : 98 Question Id : 630680292509 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following and choose the correct statement/s.

(A) Telangana surpassed 5 states in a span of 9 years, moving from 11th position in 2014-15 to becoming the 4th ranking state in terms
of Per Capita Income in the year 2022-23 at constant prices.

(B) Telangana achieved the highest average growth in Per Capita Income amongst all Southern states, at 12.1% at current prices and
6.3% at constant prices from 2014-15 to 2022-23.

Options :

1. % Both (A) and (B)
2. # Neither (A) nor (B)
3. % (A) only

4. % (B) only

Question Number : 99 Question Id : 630680292510 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
80 3°¢3Q VA, OB (HEEIS/OD JOTHTOR.

(A) 2022-23 HOXS B0, BOOMPEIS’ (DN 3B (DB (PR WE 5oy ASTEE (GSVA)E 8308 Soko
BEY, DTS 0 19.0% M ©0IT® 30DVROA.

(B) BOOMTES” 8308 $0350, 2021-2265° 0575528 0& 20 Sendnd) o es, 2022-2365° 9.5% S9@
FPOOVOA.

Options :

1. % (A) S5

2. % (B) S°(¢Hodd

3.9 (A) HD8AW (B) @0 DOy

4. % (A) 52 S (B) 5°Q & 5260

Question Number : 99 Question Id : 630680292510 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following and choose the correct statement/s.

(A) In the year 2022-23, in Telangana the industrial sector’s contribution to the Gross State Value Added (GSVA) at current prices is
estimated at 19.0%.
(B) The Industrial sector in Telangana, after experiencing a robust recovery from the pandemic in 2021- 22, grew at 9.5% in 2022-23.

Options :

1. % (A) only

2. % (B) only

3.+ Both (A) and (B)
4. % Neither (A) nor (B)

Question Number : 100 Question Id : 630680292511 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0

AS SEBOH ) D05 IS0 |FSE0D0THDR0E?

Options :

1. # 2014

2.4 2015

3. % 2016

4. % 2018

Question Number : 100 Question Id : 630680292511 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year Mission Kakatiya was inaugurated?
Options :

1. % 2014

2.9 2015

3. % 2016

4. % 2018

Question Number : 101 Question Id : 630680292512 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2022 °¢38, BOOMTEIZL 578 ¢h 30 I T RO T AT, 24% 0B 8 DOTOR OF SO DENZ0E.
Options :

1. % 35%

2.9 33%

3. % 36%

4. % 30%

Question Number : 101 Question Id : 630680292512 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As of 2022, Telangana Ku Haritha Haram aims to increase the tree cover in the state from 24% to
Options :

1. % 35%

2.9 33%

3. % 36%

4. % 30%

Question Number : 102 Question Id : 630680292513 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘532565 DN YO ABEE 2017 BOOMTED T RO’ (IGO0, BEOTFED X773 9D SR SFE (HDI) 2004-0565°Q 1385
S0 Ho& § ADIGOL.

Options :

1. % 2011-128° 9
2.4 2011-1285° 10
3. % 2011-1263° 11
4. % 2011-1265° 8

Question Number : 102 Question Id : 630680292513 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 49/73



8/9/23, 1:43 PM https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Correct Marks : 1 Wrong Marks : 0

As per, ‘Human Development Report 2017 Telangana State’, Telangana has improved its rank in Human Development Index (HDI)
from 13 in 2004-05 to

Options :

1. % 9in2011-12
2.% 10in 2011-12
3. % 11in2011-12
4. % 8in2011-12

Question Number : 103 Question Id : 630680292514 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

‘B0 VE FE3VES 25(a°S, 20227 (H5°30, 80& ¢3S’ 2022 T7¢38 Se>0mred T°lalAE H00B0D DT 23¢h
DE?

Options :

1. ¥ 612 --- DIQ°E DO

2. % 12345 0. BISFS (T DOTTADHEIEN

3. % 11909 ----- [SININVS[OINVIOW

4, % 94 . BRA°S B2

Question Number : 103 Question Id : 630680292514 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As per, ‘Telangana State Statistical Abstract, 2022°, which of the following PAIRS is correct about Telangana state as of 2022?
Options :

1. ¥ 612 --- Revenue Mandals

2. % 12345 - Revenue Gram Panchayats

3. % 11909 ----- Revenue villages

4. % 94 - Revenue divisions

Question Number : 104 Question Id : 630680292515 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2305 TVSNDAD 2HBE I3 2021 (D5°G0, 808 e3¢5’ & (DEELSE DT IN?

(A) 350205 2021 T°¢38, BOOTEIS'D eEETerS ¢S TVANDOD I BT 50 27.43 % (05N e
B |D5°B0)

(B) 5650205 2021 °¢38, BOMPEISTR) Qessrrerd 23S 235T0S0DOD BICIE BIeT F°¢H0 21.44%. (SETFOS °ch
B |D5°B0)

(C) 35005 2021 °¢38, SBOOMrRS'D NoYeled 8?@?655 DITVINDOH DI 22T F°H0 25.3%. (eP03°eN) J°ed
B (D5°B0)

Options :

1. % (B) OG5 (C) @0 S5 ehadd

2.9 (A) OO (B) €0 33753

3. % (A) 0BA%W (C) 0 S5 ehadd

4. % (A) (B) 0B (C)

Question Number : 104 Question Id : 630680292515 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As per the ‘National Multidimensional Poverty Index 2021°, which of the following statements are CORRECT?

(A) As on November 2021, the percentage of population who are multi-dimensionally poor in the Adilabad district of Telangana was
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27.43 % (figures as per old districts)

(B) As on November 2021, the percentage of population who are multi-dimensionally poor in the Nizamabad district of Telangana was
21.44%. (figures as per old districts)

(C) As on November 2021, the percentage of population who are multi-dimensionally poor in the Nalgonda district of Telangana was
25.3%. (figures as per old districts)

Options :

1. # (B) and (C) only
2. % (A) and (B) only
3. % (A)and (C) only
4. % (A) (B)and (C)

Question Number : 105 Question Id : 630680292516 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 (DELSOS’ DB DD?

(A) 2014-15 HOSS YTV BLOTPED TR 2T HDE IO 1,12,077 sq. kms.

(B) S [Fe0 SHT°S) @590 BOOMTED TR0 & (006 e &0chy).

(C) B0 T°( Q0 S8 .€90 $DBAN B5°E0 ) €808 (DTF; DBIXT ET°EE; S0BAN AT 0IFT o DB
BBVEE T aFOS DBV HOTHH0LNOE.

Options :

1. % (B) 08050 (C) €0 S5(ehadd

2.9 (A) DO (C) €0 S7°(Had

3. % (A) (B) 08050 (C)

4. % (A) HOOW (B) €0 S°(Had

Question Number : 105 Question Id : 630680292516 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statements are CORRECT?

(A) The Geographical area of the Telangana State for the year 2014-15 is 1,12,077 sq. kms.

(B) The dry mixed deciduous forests do not cover any part of the Telangana State.

(C) Telangana state shares borders with the States of Andhra Pradesh in the south and east; Karnataka in the west; and Maharashtra
and Chhattisgarh in the north.

Options :

1. ¥ (B) and (C) only
2. % (A) and (C) only
3. % (A) (B) and (C)
4. % (A) and (B) only

Question Number : 106 Question Id : 630680292517 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
D85 25 DOTHTOR.

SO - B HOT (DHTRNOE
Options :

1. % B8 & — es@ererd B
2. % Eyol SO — S 0% BO°

3. % DT IO — HIraxrdS SK6 B
4. ¢ 080" & — SBoKS B

Question Number : 106 Question Id : 630680292517 Is Question Mandatory : No Calculator : None Response Time : N.A
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Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Choose the INCORRECT pair.

River — Passes through the district

Options :

1. % Godavari River — Adilabad district

2. # Krishna River — Nalgonda district

3. * Bhima River — Mahabubnagar district
4. % Manjira River — Warangal district

Question Number : 107 Question Id : 630680292518 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SOOMrPE) FATIT DETNS TE 0§ 2023 |HS°B0, SO TPl NSO ey SISO BFocS 0°50500
308 &od.

Options :

1.#¥ 10

2. 128

3% 1165

4.% 139

Question Number : 107 Question Id : 630680292518 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana is ranked  in the country in terms of population as per Telangana Socio Economic Outlook 2023.
Options :

1. # 10th

2. % 12th

3. % 11th

4. % 13th

Question Number : 108 Question Id : 630680292519 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0 FATIT DETNE TS 0§ 2023 (H5°B0, Kb 978 SCOOTT, B0’ (D0 ST BED (MMR) 2010
1257110 00& 2018 - 20 S° %0 SN0NDB0E.

Options :

1. % 43

2. % 33

3. % 53

4. % 63

Question Number : 108 Question Id : 630680292519 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Over the last decade, the Maternal Mortality Ratio (MMR) in Telangana has decreased from 110 in 2010-12 to in 2018-20 as
per Telangana Socio Economic Outlook 2023.

Options :
1.943
2. % 33
3. % 53
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4. % 63

Question Number : 109 Question Id : 630680292520 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BOOME) FATIT DEWE TE 0§ 2023 (H5°30, 806 ¢3S & (9EEIS/EN HBI.

A)@&S%oés& IIBSE T B27¢h 16 T aFOES SO 93580263 (T sDBET BEN (e 0T°Chd T RO
QODOA.

B) 800’ 3% DS BEN (IMR) 2014 & 35 00 2020 S° 21 DEFON0E.

Options :

1. % (A) 5 S (B) 5°Q 0 5°¢%0

2. % (A) Qo7(ehad

3. % (A) DB (B) e Bo&ky

4. ¢ (B) S3°(¢Ho

Question Number : 109 Question Id : 630680292520 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement/s is / are CORRECT based on Telangana Socio Economic Outlook 2023?

A) Telangana has the third lowest Maternal Mortality Ratio among the 16 Non-Special Category States of the country
B) Infant Mortality Rate (IMR) in Telangana has fallen from 35 in 2014 to 21 in 2020

Options :

1. * Neither A nor B
2. % A Only

3. % Both A and B
4.+ B only

Question Number : 110 Question Id : 630680292521 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOMPE) FPATIT DETDS TE 0§ 2023 1H5°850, 2022 ¢ es&H5 SOOI F0eN02) HDOT.e SHO(Edeb § Fo TN
O 38755 Dertio DS SeFODS 2308 (DT 81 s B 5FTOES’ @65 sBE-(HSTCS 55) 9805 e’
988500 NDATIS T°aTES’ T BOOMED TS0 OS?

Options :

1. % J0cdes

2. ¥ BOGS

ERE N W I

4. % 205

Question Number : 110 Question Id : 630680292521 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is Telangana’s rank among the best-performing States in High-Risk Pregnancy Identification awards in the National Maternal
Health workshop, organised by the Maternal Health division of the Ministry of Health and Family Welfare in 2022 as per Telangana
Socio Economic Outlook 2023?

Options :

1. * First
2. % Second
3. # Third
4. # Fifth
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Question Number : 111 Question Id : 630680292522 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
2011 B2 BELO (DTS00, |- HEO BI°2F (DGO BN €0 Be0mres T°ROS'R 80O 8rerd
08 )0s:

(A) s8OS

(B) $803%5

(C) ST

(D) S0

Options :

1. % (B), (D), (A), (O)
2. % (0), (D), (A), (B)
3. % (D), (B), (C), (A)
4. ¥ (A), (C), (B), (D)

Question Number : 111 Question Id : 630680292522 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following districts of Telangana state in the increasing order according to the males and females’ population as per Census
2011:

(A) Adilabad
(B) Karimnagar
(C) Medak

(D) Nalgonda

Options :

1. % (B), (D), (A), (C)
2. % (C), (D), (A), (B)
3. % (D), (B), (O), (A)
4.¥ (A), (0),(B), (D)

Question Number : 112 Question Id : 630680292523 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

806 7¢3Q BOOMED FATI® DETWE LS 0§ 2023 (DS°S0, 2019 — 20 &' 2> ST Tew TB0E), Ve
€9 MHEIOT P, (00’ @533 )08.

A) 3% B> B (IMR)

B) 5523°¢% 3% S03eare> BN (NMR)

C) 5 505¢ )7 80 78 BeTred B (USMR)
Options :

1. % A), B) 0805w C)

2. % B), A) B C)

3. % (), B) NO8AW A)

4. % C), A) B3 B)

Question Number : 112 Question Id : 630680292523 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following in the decreasing order according to the Status of Child Mortality Rates in 2019 - 20 as per Telangana Socio
Economic Outlook 2023.

A) Infant Mortality Rate (IMR)
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B) Neonatal Mortality Rate (NMR)
C) Under 5 Mortality Rate (USMR)

Options :

1. % A),B)and C)
2. % B), A) and C)
3. % (C),B)and A)
4. % C), A) and B)

Question Number : 113 Question Id : 630680292524 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SO0 T°aT8 0 )A0DS 578¢h DO "S0MTed T8 Q"D & D0SS$ B0’ (DE¢30TEy?
Options :

1. % 2014

2. % 2018

3.9 2021

4. % 2022

Question Number : 113 Question Id : 630680292524 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year “Telangana Haritha Nidhi” a dedicated Green Fund for Telangana State was announced?
Options :

1. % 2014

2. % 2018

3.9 2021

4. % 2022

Question Number : 114 Question Id : 630680292525 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0ore S 270N, DACHE HBASW 8L 36 FHOS’ H3 2023-24° D) §H T FDOTE?
Options :

1. % 50

2.4 60

3. %70

4. % 40

Question Number : 114 Question Id : 630680292525 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

How many new courts will be established in 2023-24 including Junior, Senior and District Judge Courts in Telangana?
Options :

1. % 50

2.4 60

3. %70

4. % 40

Question Number : 115 Question Id : 630680292526 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
R0EB) AXS DE BVON OFVTHAS (ISTA) SPOFRE SO & D0SS IS0’ 38350 IDJOE?
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Options :
1. % 2018
2.4 2019
3. % 2020
4. % 2021

Question Number : 115 Question Id : 630680292526 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year the Telangana hosted the International Seed Testing Association (ISTA) Congress?
Options :

1. % 2018

2.9 2019

3. % 2020

4. % 2021

Question Number : 116 Question Id : 630680292527 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
BOOMTED FATI® DETDT TEITeT 2023 (D530 80 5°¢3Q LIAR, OB (DEEIS/OR DO 0R:

(A) 2014 — 15 S0BO 2021-22 © DS BOOMTED DN AZNEY SOOI 25565 1.7 BEW 08A0N |(1or0D0d.
(B) 2021- 22 °¢38, SOOI F°Deh DENS 0TS0 18,069 MW 5.

Options :

1. % (A) 5 S (B) 5°Q O 5°¢%
2. ¥ (A) HBAW (B) @0 Bockr

3. % (A) S5

4. % (B) S°(¢had

Question Number : 116 Question Id : 630680292527 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following and choose the correct statement/s, as per Telangana Socio Economic Outlook 2023:

(A) Telangana experienced an increase in the per capita availability of power by 1.7 times between 2014- 15 and 2021-22.
(B) As 0f 2021-22, the Installed capacity of power in Telangana is 18,069 MW.

Options :

1. * Neither (A) nor (B)
2. % Both (A) and (B)
3. % (A) only

4. % (B) only

Question Number : 117 Question Id : 630680292528 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 °¢3Q WA, DT DEES/OX DOTHE0R.

(A) BOTPE 2016 38, K> DCNABEES 100% 500 FEODOE.

(B) B0 W E3NES @025 |5, 2022 (HSB0, BOOMTE TR0 MHOT ST 30 230D ST Do
¢89) 4,983 km EE.

Options :

1. % (A) S5

2. ¥ (B) S°(¢Hodd
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3.% (A) 5 S (B) 5°Q 0O 550
4. % (A) HOAW (B) @0 BOC®

Question Number : 117 Question Id : 630680292528 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following and choose the correct statement/s.

(A) Telangana has achieved 100% saturation in household electrification by 2016.
(B) 30 National Highways (NH) run through the state of Telangana, cumulative length of the highways is 4,983 km as per Telangana
State Statistical Abstract, 2022

Options :

1. #® (A) only

2. % (B) only

3. % Neither (A) nor (B)
4. % Both (A) and (B)

Question Number : 118 Question Id : 630680292529 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BN 237280 (5 )or0 @S, “BOOMT 27l OSHIS0” & BENB0ETS.
Options :

1. % (D& 505550 9526 9

2. % (5 D05 Y50 05225 2

3.9 (D3 D05¢5 )50 V000 9

4. % (DS 5058 )50 D00 2

Question Number : 118 Question Id : 630680292529 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

To promote Telugu language, “Telangana Language Day “is celebrated on
Options :

1. # October 9 every year

2. # QOctober 2 every year

3. ¥ September 9 every year

4. ¥ September 2 every year

Question Number : 119 Question Id : 630680292530 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which fortress rests on a granite hill 120 meters high while huge, crenellated ramparts surround this structure?
Options :

1. ¥ Domakonda Fort

2. % The Golconda Fort

3. # The Medak Fort

4. % The Nizamabad Fort

Question Number : 119 Question Id : 630680292530 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
120 3 DS’ &e AT, THERXINTE) 278, DEIFCH €03 (ST e Ked IPRES FosD &), §ed DE?
Options :
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1. % 8080 S
2. ¢ S0 5

3. % S &

4. % Jardrerd 8

Question Number : 120 Question Id : 630680292531 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

0T EEE), BENHESE NS0T YTSS oY I 0D S [rS0DoT.
Options :

1. % HAS d00

2. % HAT0S de00

3. % DA 8700

4. % Hoy enf Fer)0o

Question Number : 120 Question Id : 630680292531 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The colossal undertaking of translating the Mahabharata into Telugu was begun by Nannaya in the
Options :

1. ¥ tenth century

2. # eleventh century

3. # thirteenth century

4. % fourteenth century

Question Number : 121 Question Id : 630680292532 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BHES TG TS EJ(SHONO 2ED?
Options :

1 ¥ 35) AN, €383 DA JSS

2. % 3505, BEYS HBAM b

3. % Q) A%, DS DO BN

4. % 5, 353 DO JBS

Question Number : 121 Question Id : 630680292532 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Name the poet trio who have written Mahabharata in Telugu?
Options :

1. % Nannaya, Tikkana and Errana

2. % Nannaya, Tikkana and Pothana

3. ¥ Nannaya, Pothana and Errana

4. % Pothana, Tikkana and Errana

Question Number : 122 Question Id : 630680292533 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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808 €3 250805,
a“tj‘{ae:ﬁs Seé}c:io 2er

=

A. 03076 Do | 1. srdoanSoc

B. do0m Qowv e | 2. .moiﬁméu

C. rord Der 3. O30

Options :

1.%¥ A-2;B-3;C-1
2.% A-1;B-3,C-2
3. A-2;B-1;C-3
4. ¥ A-3;B-1,C-2

Question Number : 122 Question Id : 630680292533 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Match the Following

Heritage District

A. Khilla Ghanpur 1. Hanumakonda

B. Thousand pillar temple | 2. Mancherial

C. Gandhari Khilla 3. Wanaparthy
Options :

1.%¥ A-2;:B-3;C-1
2.% A-1;B-3;C-2
3. A-2;B-1;C-3
4. ¥ A-3;B-1;C-2

Question Number : 123 Question Id : 630680292534 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following forts in the DECREASING ORDER (From newest to oldest) of the centuries in which they were completed.

(A) The Nizamabad Fort
(B) The Gadwal Fort
(C) The Devarakonda Fort

Options :

1. ¥ (A),(C), (B)
2. % (C), (B), (A)
3. % (A),(B), (O
4. ¥ (B), (C), (A)

Question Number : 123 Question Id : 630680292534 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
806 §0 57¢3Q 5370 BIS Ferere e3crEomT hHesdd) 150065 (5 0GB arehE0) s0EI0&. (A)
Qezdrrers 8¢
(B) i35S S
(C) BISF0 S
Options :
1. % (A),(C), (B)
2. % (C), (B), (A)
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3.% (A, (B), (O
4. ¥ (B), (C), (A)

Question Number : 124 Question Id : 630680292535 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

B0’ & 180 J0HDD BEHYHFOR T (DTG0 SOESTOTS0 (SSB0EE D055 1506 28958 Hod
&R0 HBB) @NB)0&.
(A) 20802

(B) &&

(C) S’ren

(D) do(5°0e3

Options :

1. % (B), (D), (A), (C)

2. % (0), (D), (A), (B)

3. ¥ (D), (B), (C), (A)

4. % (A), (D), (C), (B)

Question Number : 124 Question Id : 630680292535 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following festivals of Telangana according to the month of celebration in Chronological order (In the Calendar year
January to December)

(A) Bathukamma
(B) Ugadi

(C) Bonalu

(D) Sankranti

Options :

1. % (B), (D), (A), (©)
2. % (0), (D), (A), (B)
3.¥(D), (B), (O), (A)
4. % (A), (D), (©), (B)

Question Number : 125 Question Id : 630680292536 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOorRS' D BPS 5000 5E 10T DB DR SRS .
Options :

1. % 58

2. % 90D

3. % S806S

4. ¢ 350

Question Number : 125 Question Id : 630680292536 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Telangana has an iconic saree weaving cluster at Pochampalli, District
Options :

1. ¥ Medak

2. # Adilabad

3. % Warangal

4. % Nalgonda
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Question Number : 126 Question Id : 630680292537 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

808 5°¢3Q WA, DB DS/ DO

(A) BB 8¢5 52351500 02.06.20178 (SPS0D0HDE0E

(B) BOOME FADZ® ETa0S TEenS 2023 (D580, 2030 °¢38 1,00,000 (2°€0 150> 233780 70 EOTY 580709
195025 MMR Q $80t0e) ©8 S0P 20¢RE0S), SDG S 3 (800D es&50 sS850 H0F.s00) & TR0 Q0D
TES AOD0S.

Options :

1. % (A) 5°Q S (B) 5°Q & 5260
2. % (A) S

3. ¢ (A) 0BA5W (B) ©0 BOT®

4. % (B) S3°(¢Hodd

Question Number : 126 Question Id : 630680292537 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Read the following and choose the correct statement/s:

(A) KCR KIT program was launched on 02.06.2017
(B) The State has emerged as an achiever in SDG Goal 3 (Good Health and Wellbeing) which aims at reducing the global MMR to less
than 70 per 1,00,000 live births by 2030 as per Telangana Socio Economic Outlook 2023

Options :

1. # Neither (A) nor (B)
2. % (A) only

3. % Both (A) and (B)
4. % (B) only

Question Number : 127 Question Id : 630680292538 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

D D058 1806° T BT HSS $5IVEBED EMAS (SRC) 53 AFEEL D080 BOOTPED TR DT°YENEY DS
JR0H?

Options :

1. % 1953

2. %1955

3. % 1957

4. % 1959

Question Number : 127 Question Id : 630680292538 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year States Reorganization Commission (SRC) submitted its report and recommended formation of Telangana state?
Options :

1. % 1953

2. % 1955

3. % 1957

4. % 1959

Question Number : 128 Question Id : 630680292539 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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BOOMPZ §) D0BE 9038 HDeNETEHAT &) H035IB0ES €385 — FONO0E) BT & eHENTATFO
O3 G §e Qad DT ON?

Options :

1. % 1974

2.% 1975

3. % 1976

4. % 1977

Question Number : 128 Question Id : 630680292539 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which year the Presidential order issued to implement Six-Point Formula, providing some safeguards to Telangana?
Options :

1. # 1974

2.4 1975

3. % 1976

4. % 1977

Question Number : 129 Question Id : 630680292540 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BOOPE DN HOBOOTHEZ N0 §L 55728 50508 @00 BN (389 TZNEY 95556505 2¢0MHS
9205 B (3R Ee3 Bo(cso S DTN TROE.

Options :

1. % QDS 7,2010.

2. % 2330058 3, 2010.

3.9 5N 3,2010.

4. % 358 7,2010.

Question Number : 129 Question Id : 630680292540 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Centre set up five-member Srikrishna Committee headed by former Supreme Court Judge BN Srikrishna to look into Telangana
issue on

Options :

1. % April 7, 2010.

2. # January 3, 2010.
3. % February 3, 2010.
4. % March 7, 2010.

Question Number : 130 Question Id : 630680292541 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
808 3°¢3Q) 52 (ZP TS0 €908 )0%:

(A) “DRNRNI 2.D)0B0” ) W3S Far® BE HOAN 2277 TZ0E Yl TmYen DOHE0 B3°X.
(B) 801 MLA €0 308050 MP €2 U7 375001 s05°80603 R 07283735 33°C0.

(C) DSB8 B0rred TEEY ‘B BOOMTED’ €500 INIBOR.

Options :

1. ¥ (A), (C), (B)

2. % (A), (B), (©)

3. % (0),(B), (A)
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4. % (B), (A), (C)

Question Number : 130 Question Id : 630680292541 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following in Chronological order:

A) Bezawada Gopala Reddy and Burgula Ramakrishna Rao signed a “Gentlemen’s Agreement”.
B) Telangana MLAs and MPs across the state gave mass resignations.
C)‘Jai Telangana’ movement for separate statechood to Telangana began.

Options :

1. ¥ (A), (C), (B)
2. % (A), (B), ()
3. % (0),(B), (A)
4. % (B), (A), (C)

Question Number : 131 Question Id : 630680292542 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

Give me second, though. I need to check something.
Options :

1.% a

2. % the

3. % an

4. # No article

Question Number : 131 Question Id : 630680292542 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

Give me second, though. I need to check something.
Options :

1.¥ a

2. # the

3. % an

4. # No article

Question Number : 132 Question Id : 630680292543 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

My foot hit soft spot in wood.
Options :

1. *® an,a

2. % the, No article

3. # No article, a

4. % a, the

Question Number : 132 Question Id : 630680292543 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
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Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

My foot hit soft spot in wood.
Options :

1. #® an, a

2. % the, No article

3. % No article, a

4. % a the

Question Number : 133 Question Id : 630680292544 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

South Korea's factory production jumped in May.
Options :

1. % unexpectedly

2. # unexpected

3. #* unexpecting

4. % expected

Question Number : 133 Question Id : 630680292544 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

South Korea's factory production jumped in May.
Options :

1. ¥ unexpectedly

2. # unexpected

3. % unexpecting

4. % expected

Question Number : 134 Question Id : 630680292545 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Three sentences are given below with blanks. Choose the most appropriate order of words to fill in the blanks.

I. The rates of staple vegetables were in tune the rise in their prices in wholesale markets.
II. I'm more to know than you.
II1. We'll have to walk here.

A. likely B. with C. from
Options :
1.¥1-B
n-c
I - A
2.%1-C
m-A

11 -B
3.91-B
m-A
Ir-C

4 #1-A
II-B
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[I-C

Question Number : 134 Question Id : 630680292545 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Three sentences are given below with blanks. Choose the most appropriate order of words to fill in the blanks.
L. The rates of staple vegetables were in tune the rise in their prices in wholesale markets.

II. I'm more to know than you.

II1. We'll have to walk here.

A. likely B. with C. from

Options :
1.%¥1-B
I1-C
I - A
2.%1-C
II-A
[1-B
3.1-B
II-A
[r-cC
4. % 1-A
I1-B
[r-cC

Question Number : 135 Question Id : 630680292546 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the sentence(s) with no grammatical errors.

I. Mahesh is very eager to watch this film.
II. Tax evasion is not the only issue the government have with influencers.
II1. Both Riya and Siya are meditating.

Options :

1. % Only II

2. % Only I and III
3. % Only III

4. % 1, Il and III

Question Number : 135 Question Id : 630680292546 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the sentence(s) with no grammatical errors.

I. Mahesh is very eager to watch this film.
II. Tax evasion is not the only issue the government have with influencers.
II1. Both Riya and Siya are meditating.

Options :

1. % Only II

2. % Only I and III
3. % Only III

4. % 1, Il and III

Question Number : 136 Question Id : 630680292547 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

https://g06.tcsion.com/CAE/viewHtmIPDFAction.action 65/73



8/9/23, 1:43 PM https://g06.tcsion.com/CAE/viewHtmIPDFAction.action

Choose the sentence(s) with no grammatical errors.

I. Mohan’s dance performance was more better than Rohan’s dance performance.
IL. I would like to train my nephew.
II1. She’ll rip you apart if you harm one of her wards.

Options :

1. % Only II

2. % I, Il and III

3. % Only II and III
4. % Only 1

Question Number : 136 Question Id : 630680292547 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the sentence(s) with no grammatical errors.

I. Mohan’s dance performance was more better than Rohan’s dance performance.
IL. T would like to train my nephew.
II1. She’ll rip you apart if you harm one of her wards.

Options :

1. % Only II

2. % I, Il and III

3. % Only IT and III
4. % Only I

Question Number : 137 Question Id : 630680292548 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence which appropriately uses the simple past tense.

I. They had gone to Shimla last year.
II. My performance in yesterday's exam was satisfactory.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. # Neither I nor I

Question Number : 137 Question Id : 630680292548 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence which appropriately uses the simple past tense.

I. They had gone to Shimla last year.
II. My performance in yesterday's exam was satisfactory.

Options :

1. % Only I

2. Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 138 Question Id : 630680292549 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence which appropriately uses the future perfect tense.
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I. We will have designed this prototype before she gets here tomorrow.
II. She would be calling me after tomorrow.

Options :

1. % Only I

2. % Only II

3. % BothIandII
4. % Neither I nor II

Question Number : 138 Question Id : 630680292549 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the sentence which appropriately uses the future perfect tense.

1. We will have designed this prototype before she gets here tomorrow.
II. She would be calling me after tomorrow.

Options :

1. % Only I

2. % Only I

3. %# BothIand II
4. % Neither I nor II

Question Number : 139 Question Id : 630680292550 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I am never getting this tender, ?
Options :

1. am1

2. % does T

3. % don’t1

4. % wouldn’t I

Question Number : 139 Question Id : 630680292550 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

I am never getting this tender, ?
Options :

l.¥ am1

2. % does I

3. % don’t I

4. % wouldn’t I

Question Number : 140 Question Id : 630680292551 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

Your father hadn’t played this game before, ?
Options :
1. * did he
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2. % hasn’t him
3. % would he
4. % had he

Question Number : 140 Question Id : 630680292551 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

Your father hadn’t played this game before, ?
Options :

1. ¥ did he

2. % hasn’t him

3. % would he

4.+ had he

Question Number : 141 Question Id : 630680292552 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct passive form of the given sentence.

You are playing this game.

Options :

1. # This game was being played by you.
2.+ This game is being played by you.
3. # This game had been played by you.
4. % This game has being played by you.

Question Number : 141 Question Id : 630680292552 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct passive form of the given sentence.

You are playing this game.

Options :

1. # This game was being played by you.
2.+ This game is being played by you.
3. ¥ This game had been played by you.
4. ¥ This game has being played by you.

Question Number : 142 Question Id : 630680292553 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the correct active form of the given sentence.

The radiotherapy machine was bought by the doctor.
Options :

1. # The doctor has bought the radiotherapy machine.
2. % The doctor bought the radiotherapy machine.

3. ¥ The doctor did bought the radiotherapy machine.
4. % The doctor had bought the radiotherapy machine.

Question Number : 142 Question Id : 630680292553 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0
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Select the correct active form of the given sentence.

The radiotherapy machine was bought by the doctor.
Options :

1. #* The doctor has bought the radiotherapy machine.

2. % The doctor bought the radiotherapy machine.

3. # The doctor did bought the radiotherapy machine.

4. # The doctor had bought the radiotherapy machine.

Question Number : 143 Question Id : 630680292554 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sentences uses the given idiom appropriately?
Not give a fig

I. They can invite whomever they want; I don’t give a fig.

II. I don’t give a fig if she plays or not.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. # Neither I nor II

Question Number : 143 Question Id : 630680292554 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following sentences uses the given idiom appropriately?
Not give a fig

I. They can invite whomever they want; I don’t give a fig.

II. I don’t give a fig if she plays or not.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. % Neither I nor II

Question Number : 144 Question Id : 630680292555 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following.

Idioms/phrases Meaning
Asredasa
I cherry Exactly
1 | Kith and kin Red face from anger or
embarrassment
III | On the nose Families and relatives
Options :

1. % 1.1, 11-3, 111-2
2.9 1.2, 11-3, 11I-1
3. % 1.2, 11-1, 111-3
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4, % -1,

Question Number : 144 Question Id : 630680292555 Is Question Mandatory : No Calculator : None Response Time : N.A

11-2, 111-3
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Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match

the following.

Idioms/phrases

Meaning

Asredasa
cherry

Exactly

II

Kith and kin

Red face from anger or
embarrassment

III

On the nose

Families and relatives

Options
1. % I-1,
2. % [-2,
3. % 1-2,
4. % 1-1,

Question Number : 145 Question Id : 630680292556 Is Question Mandatory : No Calculator : None Response Time : N.A

11-3, 111-2
1I-3, 11I-1
1I-1, I1I-3
11-2, 11-3

Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the most appropriate synonym of the given word.

Diffident
Options
1. * For

ceful

2. % Boon

3. % Bol

d

4. % Antisocial

Question Number : 145 Question Id : 630680292556 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the most appropriate synonym of the given word.

Diffident
Options
1. * For

ceful

2. % Boon

3. % Bol

d

4. % Antisocial

Question Number : 146 Question Id : 630680292557 Is Question Mandatory : No Calculator : None Response Time : N.A

Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of antonyms.

Options

1. # Rustic : Uneasy

2. % Hospitality : Arrogance
3. % Shine : Gleam
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4. % Valiant : Precipitate

Question Number : 146 Question Id : 630680292557 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct pair of antonyms.
Options :

1. #* Rustic : Uneasy

2. % Hospitality : Arrogance

3. # Shine : Gleam

4. # Valiant : Precipitate

Question Number : 147 Question Id : 630680292558 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the number of spelling errors in the given sentences. Arrange the following sentences in the correct order according to the
number of misspelt words present in them. (increasing order)

A. Carlsen and Anand fased each other for the second time.
B. Both banking and corporrate sector balance sheets have been strengthned.
C. The positon has been vaccant since she left.

Options :

1.* C,B,A
2.% A B,C
3.% B,C,A
4. % A, C,B

Question Number : 147 Question Id : 630680292558 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the number of spelling errors in the given sentences. Arrange the following sentences in the correct order according to the
number of misspelt words present in them. (increasing order)

A. Carlsen and Anand fased each other for the second time.
B. Both banking and corporrate sector balance sheets have been strengthned.
C. The positon has been vaccant since she left.

Options :

1.*% C,B,A
2.% A B,C
3.% B,C,A
4. % A C,B

Question Number : 148 Question Id : 630680292559 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the number of spelling errors in the given sentences. Arrange the following sentences in the correct order according to the
number of misspelt words present in them. (decreasing order)

A. She retreived them from her purce and handed them to him.
B. Can you pleasse shut the door behind you?
C. Please notiefy us before takking any action aganst him.

Options :

1. % B,A,C
2.% A,B,C
3.9C,A,B
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Question Number : 148 Question Id : 630680292559 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the number of spelling errors in the given sentences. Arrange the following sentences in the correct order according to the
number of misspelt words present in them. (decreasing order)

A. She retreived them from her purce and handed them to him.
B. Can you pleasse shut the door behind you?
C. Please notiefy us before takking any action aganst him.

Options :

1. % B,AC
2.% A,B,C
3.9C,A,B
4. % B,C, A

Question Number : 149 Question Id : 630680292560 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She heavily and slid off the bed.
Options :

1. * site

2. % sighed

3. * side

4. % glide

Question Number : 149 Question Id : 630680292560 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

She heavily and slid off the bed.
Options :

1. # site

2. % sighed

3. % side

4. % glide

Question Number : 150 Question Id : 630680292561 Is Question Mandatory : No Calculator : None Response Time : N.A
Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

He is not to sing at the event.
Options :

1. * aloud, allowed

2. % allowed, aloud

3. # allowed, allowed

4. * aloud, aloud

Question Number : 150 Question Id : 630680292561 Is Question Mandatory : No Calculator : None Response Time : N.A
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Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate option for the given blank.

He is not to sing at the event.
Options :

1. # aloud, allowed

2. % allowed, aloud

3. % allowed, allowed

4. % aloud, aloud
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